






DISTANCE EDUCATION

M.Com. DEGREE EXAMINATION, MAY 2008.

Commerce

MANAGEMENT CONCEPTS AND PRACTICE

(From 1999 To 2001 Batches)

Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

1. Is management a science? Explain.

÷©»õsø© Gß£x ÂgbõÚ©õ? ÂÍUS.

2. Discuss the contributions of F.W. Taylor on Scientific Management.

F.W. öh´»¶ß ÂgbõÚ ÷©»õsø© SÔzu £[PÎ¨¤øÚ ÂÁ¶.

3. Explain the characteristics of a good plan.

J¸ {À» vmhzvß ¬UQ¯ Snõ®\[PøÍ ÂÁ¶.

4. Define Decision – Making and explain the kinds of Decision – Making.

wº©õÚ® ö\´u¼ß – C»UPn® ÁøµP. ©ØÖ® wº©õÚ® ö\´u¼ß ÁøPPøÍ ÂÁ¶.

5. Explain the Dual theory of motivation.

C¸ ÷Põm£õk P¸zv¯À ö\¯¿UP® SÔzx ÂÍUSP.

6. Explain the scope and nature of control.

Pmk¨£õmiß C¯À¦ ©ØÖ® Áøµ GÀø»ø¯ ÂÁ¶.

7. Explain Newman’s three types of control.

|³÷©ßÛß ­ßÖ ÁøP¯õÚ Pmk¨£õmiøÚ ÂÍUSP.

8. What is functional organisation? State its features.

£o\õº¢u Aø©¨¦ GßÓõÀ GßÚ? Auß ußø©PøÍU TÖP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

9. Describe Henry Fayol’s 14 principles and six classification of management.

öíßÔ £õ¯¼ß BÖ ÁøP ÷©»õsø© ©ØÖ® £vÚõßS uzxÁ[PøÍ²® ÂÁ¶.

10. Enumerate the various steps practiced in Selection procedure.

÷uº¢öukzuÀ ¬øÓ°ß £À÷ÁÖ |ø»PøÍ £ØÔ ÂÁ¶.

11. Explain the three types of Leadership styles.

­ßÖ ÁøP¯õÚ uø»ø©°øÚ Â¶ÁõP ÂÍUSP.

12. Distinguish between delegation and decentralisation.

ö£õÖ¨¦ J¨£øh¨¤øÚ £µÁ»õUSu¼¼¸¢x ÷ÁÖ£kzvU PõmkP.

13. What do you understand by budgetary control? How can it effectively serve as a control mechanism?

vmh¨£mi¯À Pmk¨£õk GßÓõÀ }Âº AÔÁx ¯õx? Auß vÓßÁõ´¢u Pmk¨£õmk Ezv¯õP GÆÁõÖ £¯ß£kQÓx? 

14. Define Communication and explain the process. How can it be made effective?

uPÁÀ öuõhº¦ – C»UPn® Áøµ¢x Auß ÁÈ ¬øÓPøÍ ÂÁ¶UP. AuøÚ GÆÁõÖ vÓßªS¢uuõP BUP ¬i²®?

15. Discuss the various techniques of control.

Pmk¨£õmiß £À÷ÁÖ ²UvPÒ £ØÔ ÂÁõv.

————————





DISTANCE EDUCATION

M.Com. DEGREE EXAMINATION, MAY 2008.

MANAGEMENT CONCEPTS

(2002 onwards)

Time : Three hours
Maximum : 100 marks

PART A — (4 ( 10 = 40 marks)

Answer any FOUR questions.

All questions carry equal marks.

1.
Explain the scope of management.

÷©»õsø©°ß ÁøµöÁÀø»ø¯ ÂÁ¶UP.

2.
What are the different types of plans?

vmh[PÎß £À÷ÁÖ ÁøPPÒ ¯õx?

3.
Explain the important principles of sound organisation.

^¶¯ Aø©¨¤ß ¬UQ¯ ÷Põm£õkPøÍ ÂÁ¶UP.

4.
What are the different basis for departmentation?

xøÓ¨£kzu¼ß £À÷ÁÖ Ai¨£øhPÒ ¯õøÁ?

5.
What are the essentials of good communication?

Kº {À» uPÁÀ öuõhº¤ß ÷uøÁPÒ ¯õøÁ?

6.
Explain the nature, advantages and limitations of CPM as a tool of control.

÷©»õsø© Pmk¨£õmkU P¸Â¯õÚ ‘‘CPM’’ß ußø©PÒ {ßø©PÒ ©ØÖ® Áøµ¯øÓPøÍ ÂÁ¶UP.

7.
Write short note on Total Quality Management.

¬Êø©¯õÚ uµ ÷©»õsø©¨ £ØÔ ]Ö SÔ¨¦ ÁøµP.

8.
Write a short note on Co–ordination. 

J¸ ¬P¨£kzxuÀ £ØÔ ]Ö ÂÍUP® u¸P.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

9.
What are F.W. Taylor’s contributions to scientific management?

÷©»õsø© ]¢uøÚUS F.W. öh´»¶ß £[PÎ¨¦ ¯õx? 

10.
Discuss the different steps in planning.

vmhªku¼ß £À÷ÁÖ £i|ø»PøÍ ÂÁõvUP.

11.
What do you mean by Delegation? Bring out the merits and problems of delegation.

J¨£øhÄ GßÓõÀ GßÚ? Auß {ßø©PÒ ©ØÖ® ¤µa\øÚPøÍ öÁÎUöPõnºP.

12.
Explain the Maslow’s need hierarchy theory of motiviation and its weakness.

©õì÷»õÂß ÷uøÁ £i|ø» ÷Põm£õmiøÚ ÂÁ¶¨£÷uõk Auß SøÓ£õkPøÍ ÂÁ¶.

13.
What are the different qualities of leadership?

uø»ø© £õ[Qß £À÷ÁÖ uSvPÒ ¯õx?

14.
Highlight the importance of different devices of control.

£À÷ÁÖ Pmk£õk \õuÚ[PÎß ¬UQ¯zxÁzøu öÁÎ¨£kzxP.

15.
Write a detailed note on recent trends in management.

÷©»õsø©°ß CßøÓ¯ ÷£õUSPÒ SÔzx Â¶ÁõÚ SÔ¨¦ ÁøµP.

————————





DISTANCE EDUCATION

M.Com. DEGREE EXAMINATION, MAY 2008.

First Year

Commerce

ADVANCED ACCOUNTING

(Upto 2001)

Time : Three hours
Maximum : 100 marks

PART A — (5 × 8 = 40 marks)

Answer any FIVE questions.

All questions carry equal marks.

16. 
Explain the various types of accounting convention.

£À÷ÁÖ PnUS¨ £vÂ¯¼ß ¬øÓPøÍ ÂÍUSP.

17. 
Raman keeps his books on Single Entry basis. Prepare a statement of Affairs as on 31.10.05 and a statement of Profit or Loss for the period ending 31.10.2005.

	Assets and liabilities
	1.11.2004
	31.10.2005

	
	Rs.
	Rs.

	Bank Balance
	(Cr.)     560
	(Dr.)     350

	Cash on hand
	10
	50

	Debtors
	4,500
	3,600

	Stock
	2,700
	2,900

	Plant
	4,000
	4,000

	Furniture
	1,000
	1,000


Raman had withdrawn Rs. 2,000 during the year and had introduced additional capital of Rs. 4,200 on 1.7.2005. A provision of 5% on Debtors necessary. Write off Depreciation on plant at 10% and furniture at 15%. Interest on capital is to be allowed at 5% p.a.

µõ©ß AÁµx HkPøÍ JØøÓ¨ £vÄ Ai¨£øh°À øÁzv¸UQÓõº 2005 AU÷hõ£º 31UPõÚ |ø» AÔUøP ©ØÖ® 31.10.2005 ¬iÁøh²® Põ»zvØPõÚ C»õ£® AÀ»x {mhzøu u¯õ¶UP.

	ö\õzxPÒ ©ØÖ® ö£õÖ¨¦PÒ
	1.11.2004
	31.10.2005

	
	¹.
	¹.

	Á[Q C¸¨¦
	   560  (ÁµÄ)
	   350 (£ØÖ)

	øP°À öµõUP®
	10
	50

	PhÚõÎPÒ
	4,500
	3,600

	\µUS 
	2,700
	2,900

	ö£õÔ
	4,000
	4,000

	AøÓP»ß
	1,000
	1,000


µõ©ß A¢u BsiÀ ¹. 2,000 Gk¨¦ ö\´v¸¢uõº ©ØÖ® 1.7.2005À ¹. 4,200 Tku»õP ¬u½k ö\´uõº. PhÚõÎPÒ «x 5 \uÃuzvØPõÚ Põ¨¦ ÷uøÁ¨£kQÓx. ö£õÔ°ß «x 10 \uÃuzv¾®, AøÓP»ß «x 15 \uÃuzv¾® ÷u´©õÚ® GÊxP. ¬uÀ «uõÚ Ámi BskUS 5 \uÃuzvÀ AÝ©vUP¨£h ÷Ásk®.

18. 
The Revenue Account of a life insurance company shows the life assurance fund on 31st March 2005 at Rs. 62,21,310 before taking into account the following items :

(a)
Claims covered under reinsurance Rs. 12,000

(b)
Bonus utilized in reduction of life insurance premium Rs. 4,500

(c)
Interest accrued on securities Rs. 8,260

(d)
Outstanding premium Rs. 5,410

(e)
Claims intimated but not admitted Rs. 26,500


What is life assurance fund after taking into account the above omission?

B²Ò Põ¨¥mk P®ö£Û°ß 31.3.2005&® BsiØS¶¯ Á¸Áõ´ PnUS ¹. 62,21,310&I Põs¤UQßÓx. CzöuõøP RÌUSÔ¨¤k® {hÁiUøPPøÍ P¸zvØ öPõÒÍõ©À C¸¢uuØS ¬¢øu¯ |ø»ø© BS®.

(A)
©ÖPõ¨¥mkU RÌ öPõskÁµ¨£mh E¶ø©U ÷Põ¶UøPPÒ – ¹. 12,000

(B)
B²Ò Põ¨¥mkU PmhnzvØS GvµõP £¯ß£kzu¨£mh ÷©¿v¯z öuõøP – ¹. 4,500

(C)
¬u½mk¨ £zvµ[PÎß «uõÚ Ámi £õUQ – ¹. 8,260

(D)
|¾øÁ¯õ²ÒÍ Põ¨¥mkU Pmhn® – ¹. 5,410

(E)
öu¶ÂUP¨£mh BÚõÀ AÝ©vUP¨£hõu E¶ø©U ÷Põ¶UøPPÒ – ¹. 26,500


÷©÷» TÓ¨£mh C¢{hÁiUøPPøÍ Em£kzv¯¤ß |ÖÁÚzvß |v |ø» GÆÁõÖ C¸US® Gß£uøÚ Põs¤UP.

19. A purchasing company agrees to issue three shares of 
Rs. 10 each, Rs. 7 paid-up (quoted in the  market at Rs. 15) for every five shares in the vendor company. Find the number and amount of shares to be issued by the purchasing company if the vendor company has Rs. 5,00,000 paid-up shares capital of 
Rs. 10 each, Rs. 5 pai-up (quoted in the market at Rs. 8).

JÆöÁõ¸ ­ßÖ £[QØS® Áõ[S® |Ö©® ¹. 10 ©v¨¦ÒÍ J¸ £[øP, ¹. 7 ö\¾zu¨£mh £[S (\¢øu°ß Âø» ¹. 15) ÂØ£øÚ ö\´²® |Ö©zvß I¢x £[QØS u¸ÁuõP JzxU öPõshx. ÂØ£øÚ ö\´²® |Ö©® ¹. 5,00,000 ©v¨¦ÒÍ ö\¾zu¨£mh £[S öuõøPUS ¹. 10 ©v¨¦ÒÍ, ¹. 5 ö\¾zu¨£mh (\¢øu°ß Âø» ¹. 8) £[Sz öuõøPUS Áõ[S® |Ö©® öPõkUP ÷Ási¯ £[SPÎß GsoUøP²® Auß ©v¨ø£²® Psk¤i.

20. From the balance sheet given below prepare a consolidated balance sheet of X Co. Ltd. and its subsidiary 
Y Co. Ltd. The interests of the minority shareholders of Y Co. Ltd. are to be shown in the consolidated balance sheet.

Balance sheet of X Co. Ltd. and Y Co. Ltd. as on 31.12.2005

	Liabilities
	Rs.
	Rs.
	Assets
	Rs.
	Rs.

	
	X
	Y
	
	X
	Y

	Share capital :
	
	
	Land and
	
	

	2,00,000 shares 
	
	
	  Buildings
	1,52,00,000
	–

	  of Rs. 80 each
	1,60,00,000
	
	Plant and
	
	

	20,000 shares of
	
	
	  machinery
	22,40,000
	3,20,000

	  Rs. 80 each
	
	16,00,000
	Shares in Y Co. 
	
	

	General reserve
	80,00,000
	–
	  Ltd 18,000 
	
	

	Creditors
	48,00,000
	3,20,000
	  shares of Rs. 80
	
	

	Profit and Loss
	
	
	  each
	28,80,000
	–

	  appropriation a/c
	16,00,000
	24,00,000
	Stock
	48,00,000
	8,00,000

	
	
	
	Debtors
	32,00,000
	11,20,000

	
	
	
	Cash at Bank
	20,80,000
	20,80,000

	
	3,04,00,000
	43,20,000
	
	3,04,00,000
	43,20,000


R÷Ç öPõkUP¨£mkÒÍ C¸¨¦|ø»U SÔ¨¦PÎ¼¸¢x, ¬ußø© |Ö©® X Co. Ltd. Auß xøn |Ö©® Y Co. Ltd. BQ¯ÁØÔß J¸[QønUP¨£mh C¸¨¦|ø»U SÔ¨¦ u¯õ¶UPÄ®. A¨ö£õÊx Y Co. Ltd.ß ]Ö£õßø© £[SuõµºPÎß PnUøP uÛ¯õP Põs¤. R÷Ç öPõkUP¨£mhøÁ 31.12.2005À X Co. Ltd. ©ØÖ® Auß xøn |Ö©® Y Co. Ltd.ß C¸¨¦|ø»U SÔ¨¦PÍõS®.

	ö£õÖ¨¦PÒ
	¹.
	¹.
	ö\õzxPÒ
	¹.
	¹.

	
	X
	Y
	
	X
	Y

	£[S ¬uÀ
	
	
	|»®, Pmih®
	1,52,00,000
	–

	 (JßÖ ¹. 10 
	
	
	C¯¢vµ®
	22,40,000
	3,20,000

	 Ãu® 2,00,000 
	1,60,00,000
	–
	£[SPÒ Y À
	
	

	  £[SPÒ)
	
	
	  (18000 ( 80)
	28,80,000
	–

	20,000 £[SPÒ
	–
	16,00,000
	\µUS
	48,00,000
	8,00,000

	  ö£õx JxUS
	80,00,000
	–
	PhÚõÎPÒ
	32,00,000
	11,20,000

	PhÜ¢÷uõºPÒ
	48,00,000
	3,20,000
	öµõUP® 
	
	

	»õ£ {mh P/S
	16,00,000
	24,00,000
	   Á[Q°À
	20,80,000
	20,80,000

	
	3,04,00,000
	43,20,000
	
	3,04,00,000
	43,20,000


21. A, B, C and D were partners sharing profits and losses in the ratio of 6 : 4 : 6 : 4. On the date of dissolution their position was as follows :

	Liabilities
	Rs.
	Assets
	Rs.

	Sundry creditors
	40,000
	Cash in hand
	20,000

	A's Capital a/c
	72,000
	Other assets
	80,000

	B's Capital a/c
	48,000
	C's Capital a/c
	8,000

	
	
	D's Capital a/c
	12,000

	
	
	Profit and loss a/c
	40,000

	
	1,60,000
	
	1,60,000


The other assets realized Rs. 70,000. C became insolvent and nothing could be collected from his estate. Close the books of the firm.

A, B, C ©ØÖ® D BQ¯ {õÀÁ¸® £[SuõµºPÒ AÁºPÒ »õ£{mhzøu ¬øÓ÷¯ 6 : 4 : 6 : 4 GßÓ ÂQuzvÀ ¤¶zxUöPõÒÁº. |ÖÁÚ Pø»¨¦ {õÒ AßÖ Auß |»Áµ® Á¸©õÖ :

C¸¨¦ |ø»U SÔ¨¦ A, B, C ©ØÖ® D

	ö£õÖ¨¦PÒ
	¹.
	ö\õzxPÒ
	¹.

	]À»øµ PhÜ¢÷uõº
	40,000
	öµõUP® øP°¸¨¦
	20,000

	A’ ß ¬uÀ P/S
	72,000
	Cuµ ö\õzxPÒ
	80,000

	B’ ß ¬uÀ P/S
	48,000
	C'ß ¬uÀ P/S
	8,000

	
	
	D'ß ¬uÀ P/S
	12,000

	
	
	»õ£ {mh P/S
	40,000

	
	1,60,000
	
	1,60,000


Cuµ ö\õzxPÒ ÂØÖ Á¢u £n® ¹. 70,000. C Gß£Áº vÁõQÂmhõº. AÁ¶hª¸¢x Hx® ö£Ó¬i¯ÂÀø». A¢u |ÖÁÚzvß ¦zuPzøu ¬iÄ ö\´.

22. Prepare Profit and Loss account from the following information :

	
	
	Rs.

	(a)
	Gross Profit transferred
	2,70,000

	(b)
	Discount received
	5,000

	(c)
	Discount paid
	3,000

	(d)
	Salaries paid
	15,000

	(e)
	Rent paid
	5,000

	(f)
	Postage and Telegram
	2,000

	(g)
	Office expenses
	1,000

	(h)
	Depreciation on plant
	1,500

	(i)
	Depreciation on office furniture
	1,000

	(j)
	Bad debts
	200

	(k)
	Stationery
	1,500

	(l)
	Repair
	1,000

	(m)
	General expenses
	500


RÌPsh Â£µ[PÎ¼¸¢x »õ£ {mhU PnUøP u¯õº ö\´P.

	
	
	¹.

	(A)
	ö©õzu »õ£® ©õØÓ¨£mhx
	2,70,000

	(B)
	uÒÐ£i ö£ØÓx
	5,000

	(C)
	uÒÐ£i öPõkzux
	3,000

	(D)
	\®£Í® öPõkzux
	15,000

	(E)
	ÁõhøP öPõkzux
	5,000

	(F)
	u£õÀ u¢v
	2,000

	(G)
	A¾Á»P ö\»ÄPÒ
	1,000

	(H)
	÷u´©õÚ® – ö£õÔ «x
	1,500

	(I)
	÷u´©õÚ® – A¾Á»P ©øÚzxøn¨ 
	

	
	   ö£õ¸mPÒ
	1,000

	(J)
	ÁµõUPhß
	200

	(K)
	GÊxö£õ¸mPÒ
	1,500

	(JÍ)
	£Êx£õº¨¦ ö\»Ä
	1,000

	(L)
	ö£õx ö\»ÄPÒ
	500


23. Mr. Raman occupies a room in a hotel at Mumbai at 10 a.m. on 6th June 2004 at Rs. 500 for a stay of 24 hours or a part thereof. Calculate the amount payable by Mr. Raman in each of the following circumstances assuming that a service charge at 12% is also payable.

(a)
If Mr. Raman checks out 7 p.m. on 6th June 2004 itself.

(b)
If Mr. Raman checks out 8 a.m. on 7th June 2004 

(c)
If Mr. Raman checks out 3 p.m. on 7th June 2004 and

(d)
If Mr. Raman checks out 9 a.m. on 8th June 2004.

v¸ µõ©ß ¬®£´°À J¸ u[S® Âkv°À 6¢ ÷uv áüß 2004À AøÓ Gkzx u[QÚõº. AøÓUS JÆöÁõ¸ 24 ©o ÷{µzvØS® AÀ»x £SvUS® ÷\ºzx ¹. 500 Pmhn®. RÌPsh |ø»PÎÀ v¸ µõ©ß u[SÁuØS Pmhn® GÆÁÍÄ Gß£øu Psk¤iUP. AÁº £µõ©¶¨¦ ö\»Ä 12% Tku»õP uµ ÷Ásk®.

(A)
áüß 6 2004, ¤Ø£PÀ 7 ©oUS v¸ µõ©ß AøÓø¯ Põ¼ ö\´uõÀ

(B)
áüß 7 2004, v¸ µõ©ß Põø» 8 ©oUS AøÓø¯ Põ¼ ö\´uõÀ

(C)
áüß 7 2004, v¸ µõ©ß ©õø» 3 ©oUS AøÓø¯ Põ¼ ö\´uõÀ

(D)
áüß 8 2004, v¸ µõ©ß Põø» 9 ©oUS AøÓø¯ Põ¼ ö\´uõÀ.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

24. X Co. Ltd. agreed to acquire the assets excluding cash as on 31st December, 2005 of Y Co. Ltd. The balance sheet of Y Co. Ltd. as on that date was as given :

Balance sheet

	Liabilities
	Rs.
	Assets
	Rs.

	Equity capital
	
	Goodwill
	60,000

	(Shares of Rs. 10 each) 
	3,00,000
	Land and buildings
	1,20,000

	General Reserve
	80,000
	Plant and Machinery
	2,00,000

	Debentures
	50,000
	Stock
	80,000

	Creditors
	10,000
	Debtors
	30,000

	Profit and loss account
	60,000
	Cash
	10,000

	
	5,00,000
	
	5,00,000


The consideration was as follows :

(a)
A cash payment of Rs. 4 for every share of Y Ltd.

(b)
The issue of one share of Rs. 10 each (Market value Rs. 12.50) in the X Co. Ltd. for every share in Y Ltd.

(c)
The issue of 1,100 debentures of Rs. 50 each in X Co. Ltd. to enable Y Ltd. discharge its debentures at a premium of 10%.

(d)
The expenses of liquidation of Y Ltd. amounting to Rs. 4,000 was to be met by themselves. Give the journal entries in the books of both the companies.

X |Ö©® Y |Ö©zvß öµõUPzøuz uÂµ ©ØÓ ö\õzxUPøÍ GkzxU öPõÒÁuØPõP JzxU öPõshx, {õÍx ÷uv°À Y |Ö©zvß C¸¨¦ |ø»U SÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx. 31.12.2005À Auß Â£µ® :

C¸¨¦|ø»U SÔ¨¦

	ö£õÖ¨¦PÒ
	¹.
	ö\õzxPÒ
	¹.

	\©¨ £[SPÒ (JßÖ ¹. 10)
	3,00,000
	{ß©v¨¦
	60,000

	ö£õx JxUS
	80,000
	|»®, Pmih®
	1,20,000

	Phß £zvµ[PÒ
	50,000
	ö£õÔ, C¯¢vµ®
	2,00,000

	PhÜ¢÷uõº
	10,000
	\µUS
	80,000

	»õ£{mh P/S
	60,000
	PhÚõÎPÒ
	30,000

	
	
	öµõUP®
	10,000

	
	5,00,000
	
	5,00,000


RÌPshÁõÖ Ehß£õk ö\´x öPõÒÍ¨£mhx :

(A)
Y |Ö©zvß J¸ £[QØS ¹. 4 öµõUP©õPU öPõk¨£x

(B)
Y |Ö©zvß J¸ £[QØS X |Ö©zvß ¹. 10 £[S (\¢øu ©v¨¦ ¹. 12.50) JßÖ öPõk¨£x

(C)
Y |Ö©zvß Phß £zvµ[PøÍ 10% ¤¶ª¯zvÀ ö\miÀ ö\´ÁuØPõP X |Ö©®, 1,100, ¹. 50 ©v¨¦ÒÍ Phß £zvµ[PÒ öPõk¨£x.

(D)
Yß Pø»¨¦ ö\»Ä ¹. 4,000&I uõ[P÷Í öPõk¨£x GßÖ® ¬iÄ.


÷©ØPshÁØÔUS Cµsk |ÖÁÚ[PÎß ¦zuPzvß SÔ¨÷£k u¯õº ö\´P.

25. From the following balances of New General Insurance Co. Ltd. as on 31st December 2005 prepare (a) Fire revenue account (b) Marine revenue account. 

	Particulars
	Rs.
	Particulars
	Rs.

	Survey expenses (fire)
	10,000
	Commission earned on
	

	Additional reserve opening 
	
	  reinsurance ceded
	

	  (fire)
	50,000
	   (marine)
	60,000

	Commission paid (marine)
	1,08,000
	Commission earned on
	

	Commission paid (fire)
	90,000
	  reinsurance ceded
	

	Claims paid and 
	
	   (fire)
	30,000

	  outstanding (marine)
	3,80,000
	Management expenses
	

	Claims paid and 
	
	  (fire)
	1,45,000

	  outstanding (fire)
	1,80,000
	Management expenses
	

	Fire fund – opening
	2,50,000
	  (marine)
	4,00,000

	Marine fund – opening
	8,20,000
	Marine premium less
	

	Bad debts recovered
	1,200
	  reinsurance
	10,80,000

	Share transfer fee
	800
	Fire premium less
	

	Directors fees
	5,000
	  reinsurance
	6,00,000

	Auditors fees
	1,200
	Profit on sale of land
	60,000

	Bad debts (marine)
	12,000
	Misc. Receipts
	5,000

	Bad debts (fire)
	5,000
	Difference in 
	

	
	
	  exchange (Cr.)
	300

	
	
	Int. Divident etc. 
	

	
	
	  received
	14,000

	
	
	Depreciation
	35,000


In addition to usual reserves, additional reserve in case of fire insurance is to be increased by 5% of net premium.

R÷Ç öPõkUP¨£mh |Ö ö£õx Põ¨¥mkU P®ö£Û°ß 31.12.2005&À EÒÍ Â£µ[PÎ¼¸¢x (A) w Á¸©õÚ PnUS ©ØÖ® (B) PhÀ Á¸©õÚ PnUS u¯õº ö\´P.

	Â£µ®
	¹.
	Â£µ®
	¹.

	PnUöPk¨¦ ö\»ÄPÒ (w)
	10,000
	PÈÄ ö£ØÓx ©Ö Põ¨¥k
	

	Bµ®£ TkuÀ JxUS (w)
	50,000
	  (PhÀ)
	60,000

	PÈÄ öPõkzux (PhÀ)
	1,08,000
	PÈÄ ö£ØÓx ©Ö Põ¨¥k
	

	PÈÄ öPõkzux (w)
	90,000
	    (w)
	30,000

	÷Põ¶UøP ö\¾zv¯x 
	
	÷©»õsø© ö\»ÄPÒ (w)
	1,45,000

	  ©ØÖ® öPõk£h 
	
	÷©»õsø© ö\»ÄPÒ
	

	  ÷Ási¯x (PhÀ)
	3,80,000
	  (PhÀ)
	4,00,000

	÷Põ¶UøP ö\¾zv¯x
	
	PhÀ ¤¶ª¯® ©Ö Põ¨¥k
	

	  ©ØÖ® öPõk£h 
	
	  ÷£õP
	10,80,000

	  ÷Ási¯x (w)
	1,80,000
	w ¤¶ª¯® ©ÖPõ¨¥k 
	

	w øÁ¨¦ |v (Bµ®£®)
	2,50,000
	  ÷£õP
	6,00,000

	PhÀ øÁ¨¦ |v (Bµ®£®)
	8,20,000
	|»® ÂØÓvÀ »õ£®
	60,000

	ÁµõU Phß ö£ØÓx
	1,200
	Cuµ Á¸©õÚ[PÒ
	5,000

	£[S ©õØÖ Pmhn®
	800
	©õØÖ Âzv¯õ\® (Cr.)
	300

	C¯US{º Pmhn®
	5,000
	Ámi, £[Põuõ¯®
	

	uoUøP¯õÍº Pmhn®
	1,200
	  ö£ØÓx
	14,000

	ÁµõU PhßPÒ (PhÀ)
	12,000
	÷u´©õÚ®
	35,000

	ÁµõU PhßPÒ (w)
	5,000
	
	


TkuÀ JxUS w°À 5% |Pµ ¤¶ª¯zvÀ JxUS, Cx uØö£õÊx EÒÍ TkuÀ JxUSUS ÷©À ö\´P.

26. The following Trial Balance of Arun as at 31st Dec. 2005 is given to you. Prepare Final Accounts.

	Debit Balances
	Rs.
	Credit Balances
	Rs.

	Opening Stock
	15,000
	Capital
	90,000

	Land and Buildings
	35,000
	Sundry Creditors
	9,600

	Machinery
	50,000
	Purchase returns
	2,100

	Furniture and Fixtures
	5,000
	Sundry incomes
	1,200

	Purchases
	1,06,000
	Reserve for bad debts
	300

	Salaries
	11,000
	Sales
	2,07,000

	General expenses
	2,500
	
	

	Rent
	3,000
	
	

	Postage and telegram
	1,400
	
	

	Stationery
	1,300
	
	

	Wages
	26,000
	
	

	Freight on purchases
	2,800
	
	

	Carriage on sales
	4,000
	
	

	Repairs
	4,500
	
	

	Sundry debtors
	30,000
	
	

	Bad debts
	1,100
	
	

	Cash in hand
	100
	
	

	Cash in bank
	6,400
	
	

	Sales returns
	5,100
	
	

	
	3,10,200
	
	3,10,200


Adjustments :

(a)
Wages outstanding Rs. 2,100

(b)
Depreciate : Land and buildings 2%, Machinery 10%  and Furniture and Fixtures 15%

(c)
Closing Stock value Rs. 14,900.

R÷Ç öPõkUP¨£mkÒÍ 31.12.2005À A¸oß C¸¨¦|ø»¨ £mi¯À£i ¬iÄU PnUøP u¯õº ö\´P.

	
	¹.
	
	¹.

	Bµ®£ \µUS
	15,000
	¬uÀ
	90,000

	|»®, Pmhh®
	35,000
	Cuµ PhÜ¢÷uõº
	9,600

	C¯¢vµ®
	50,000
	öPõÒ¬uÀ v¸¨£®
	2,100

	©µuÍÁõh®
	5,000
	]À»øµ Á¸©õÚ®
	1,200

	öPõÒ¬uÀPÒ
	1,06,000
	ÁµõUPhß JxUS
	300

	\®£Í®
	11,000
	ÂØ£øÚ
	2,07,000

	ö£õx ö\»ÄPÒ
	2,500
	
	

	ÁõhøP
	3,000
	
	

	u£õÀ u¢v
	1,400
	
	

	GÊxö£õ¸mPÒ
	1,300
	
	

	T¼
	26,000
	
	

	öPõÒ¬uÀ ö\»Ä
	2,800
	
	

	ÂØ£øÚa ö\»Ä
	4,000
	
	

	£Êx£õº¨¦ ö\»Ä
	4,500
	
	

	Cuµ PhÚõÎPÒ
	30,000
	
	

	ÁµõU PhßPÒ
	1,100
	
	

	öµõUP øP°¸¨¦
	100
	
	

	Á[Q°¸¨¦
	6,400
	
	

	ÂØ£øÚz v¸¨£®
	5,100
	
	

	
	3,10,200
	
	3,10,200


TkuÀ Â£µ[PÒ :

(A)
T¼ |¾øÁ°À EÒÍx ¹. 2,100

(B)
÷u´©õÚ® GÊxP : |»® ©ØÖ® Pmhh® 2%


C¯¢vµ® 10% ©µuÍÁõh® 15%

(C)
CÖv \µUQ¸¨¦ ¹. 14,900.

27. Banu, Priya and Anu were in partnership sharing Profit and losses in the ratio of 3 : 2 : 1. On 1st January 2005 Priya retired. On that date the Balance Sheet was as follows :

	Liabilities
	
	Rs.
	Assets
	
	Rs.

	Bills payable
	
	5,000
	Machinery
	
	30,000

	Outstanding
	
	
	Parents
	
	3,000

	  liabilities
	
	2,000
	   Debtors
	10,000
	

	Trade creditors
	
	7,000
	   Less :
	
	

	Reserve
	
	3,000
	   provision
	500
	9,500

	Capitals :
	
	
	Stock
	
	11,000

	    Banu
	15,000
	
	Cash
	
	500

	    Priya
	12,000
	
	
	
	

	   Anu
	10,000
	37,000
	
	
	

	
	
	54,000
	
	
	54,000


The terms were :

(a)
Goodwill was to be valued at Rs. 12,000

(b)
Outstanding liabilities to be brought down to 
Rs. 1,500; Machinery is to be valued at 10% less than the book value and patents at Rs. 4,000.

(c)
The total capital of the newly constituted firm was fixed at Rs. 30,000 to be contributed by the partners in the profit sharing ratio. Pass the journal entries to show the effect of the retirement and give the new Balance sheet of the firm after retirement.

£õÝ, ¤¶¯õ ©ØÖ® AÝ ­Á¸® 3 : 2 : 1 GßÓ ÂQuzvÀ »õ£ {mhzøu ¤¶zxU öPõÒÐ® TmhõÎPÒ. 1.1.2005À ¤¶¯õ J´Ä ö£ØÓõº. A¢u {õÎÀ AÁºPÎß C¸¨¦ |ø»U SÔ¨¦ Á¸©õÖ :

	ö£õÖ¨¦PÒ
	
	¹.
	ö\õzxPÒ
	
	¹.

	ö\¾zx Esi¯À
	
	5,000
	C¯¢vµ®
	
	30,000

	öPõk£h ÷Ási¯
	
	
	÷£mhsm
	
	3,000

	  ö£õÖ¨¦PÒ
	
	2,000
	PhÚõÎPÒ
	10,000
	

	Â¯õ£õµU 
	
	
	(&) JxUS
	500
	9,500

	  PhÜ¢÷uõº
	
	7,000
	\µUS
	
	11,000

	JxUS
	
	3,000
	öµõUP®
	
	500

	¬uÀPÒ :  £õÝ
	15,000
	
	
	
	

	                    ¤¶¯õ
	12,000
	
	
	
	

	                    AÝ
	10,000
	37,000
	
	
	

	
	
	54,000
	
	
	54,000


Cuµ Â£µ[PÒ :

(A)
{ß©v¨¦ ¹. 12,000 GÚ ¬iÄ ö\´¯¨£mhx.

(B)
öPõk£h ÷Ási¯ ö£õÖ¨¦PÒ ¹. 1,500 SøÓUP¨£mhx ÷£mhsm ¹. 4,000 GÚ ©v¨¤h¨£mhx.

(C)
ö©õzu ­»uÚ® ¦xU P®ö£Û°À ¹. 30,000 GÚ ¬iÄ ö\´¯¨£mk »õ£ £[Qß ÂQuzvÀ ö\¾zu ¬iÄ SÔ¨÷£mk¨ £vÄ ö\´x, J´Ä ö£ØÓÁøµ²® PnUQØ öPõsk C¸¨¦ |ø»U SÔ¨¦ u¯õº ö\´P.

28. The Balance sheet of Sharma Co. Ltd. as on 31st December 2005 was as follows :

	Liabilities
	Rs.
	Assets
	Rs.

	Share capital :
	
	Premises
	6,60,000

	40,000 pref. shares of
	
	Plant
	3,50,000

	  Rs. 10 each
	4,00,000
	Loose tools
	1,00,000

	1,20,000 equity shares
	
	Stock
	80,000

	  of Rs. 5 each
	6,00,000
	Debtors
	1,20,000

	Reserve
	2,000
	Bills receivable
	40,000

	9% Debentures
	2,40,000
	Cash
	12,000

	Creditors
	4,00,000
	Goodwill
	2,40,000

	
	
	Profit and Loss a/c
	40,000

	
	16,42,000
	
	16,42,000


Additional information :

Upon revaluation, it was considered that the entire goodwill was worthless. Scheme of rearrangement and reduction of capital was agreed to by the court and the creditors on the following lines :

(a)
That the creditors should accept 9% debentures to the extent of half of their debts, the balance to be settled by payment of cash at 90%.

(b)
That the preference shares be reduced to shares of Rs. 5 each fully paid.

(c)
That the equity shares be reduced to Re. 1 each.


Pass necessary journal entries and prepare Balance sheet after rearrangement.

\º©õ AÁºPÎß 31.12.2005À C¸¨¦|ø»U SÔ¨¦ R÷Ç uµ¨£mkÒÍx.

	
	¹.
	
	¹.

	\© £[SPÒ :
	
	Pmhh Ch®
	6,60,000

	40,000 ¬uÀ |ø» 
	
	ö£õÔ
	3,50,000

	  £[SPÒ JßÖ ¹. 10
	4,00,000
	uÍÁõh®
	1,00,000

	1,20,000 \© £[SPÒ
	
	\µUSPÒ
	80,000

	  JßÖ ¹. 5
	6,00,000
	PhÚõÎPÒ
	1,20,000

	JxUS
	2,000
	ö£Ó÷Ási¯ Esi¯À
	40,000

	9% Phß£zvµ[PÒ
	2,40,000
	öµõUP®
	12,000

	PhÜ¢÷uõº
	4,00,000
	{ß©v¨¦
	2,40,000

	
	
	»õ£ {mh P/S
	40,000

	
	16,42,000
	
	16,42,000


TkuÀ Â£µ[PÒ :

©Ö©v¨¥miÀ ö©õzu {ß©v¨¦® |µõP¶zx uÂºUP¨£mhx, ©Övmh ©v¨¦ PhÜ¢÷uõº ©ØÖ® }v©ßÓzvÚõÀ HØÖU öPõÒÍ¨£mhx.

(A)
PhÜ¢÷uõº AÁºPÍx PnUQÀ £õv AÍÄ 9% Phß £zvµ[PÒ ö£ÖÁx, «v £õv°À 90% öµõUP® ö£ÖÁx.

(B)
¬uÀ |ø» £[SuõµºPÒ u[PÒ £[S JßÔß ©v¨ø£ ¹. 5US SøÓzuÀ 

(C)
\© £[SuõµºPÒ u[PÒ £[Qß ©v¨¦ JßÔß Âø» 
¹. 1US SøÓzx öPõÒÁx.

CøÁPøÍ P¸zvØöPõsk ¬uØSÔ¨÷£k ©ØÖ® 
C¸¨¦|ø»U SÔ¨¦ u¯õº ö\´P.

29. XY private Ltd. was incorporated on 1.7.2005 to take over the business carried on by PQ and Co as a going concern with effect from 1.4.2005, the following is the P & L account for the year ended 31.3.2006 of XY Private Ltd. :

	
	Rs.
	
	Rs.

	To Administrative 
	
	By G. Profit b/d
	7,50,000

	     expenses
	1,80,000
	
	

	To Director's fees
	30,000
	
	

	To Selling expenses
	3,60,000
	
	

	To Audit fee
	10,000
	
	

	To Preliminary expenses
	30,000
	
	

	To Net Profit
	1,40,000
	
	

	
	7,50,000
	
	7,50,000


Sales Rs. 30,00,000 (upto 30.6.2005, Rs. 10,00,000). You are required to prepare a statement showing the profit earned prior to and after incorporation.

1.4.2005 B® ÷uv°¼¸¢x ö\¯À£mkU öPõsi¸US® PQ & Co øÁ Áõ[SÁuØPõP, XY ¤øµ÷Ám ¼ªöhm 1.7.2005 B® ÷uv Tmk¸ÁõUP® ö\´¯¨£mhx. XY ¤øµ÷Ám ¼ªöhmiß »õ£{mh PnUS 31.3.2006 ¬i¯ R÷Ç uµ¨£mkÒÍx.

	
	¹.
	
	¹.

	|ºÁõP ö\»ÄPÒ
	1,80,000
	ö©õzu »õ£® R/öPõ
	7,50,000

	C¯US{º Pmhn®
	30,000
	
	

	ÂØ£øÚa ö\»ÄPÒ
	3,60,000
	
	

	uoUøPU Pmhn®
	10,000
	
	

	¬ußø©a ö\»ÄPÒ
	30,000
	
	

	|Pµ »õ£®
	1,40,000
	
	

	
	7,50,000
	
	7,50,000


ÂØ£øÚ ¹. 30,00,000 (30.6.2005 ¬i¯ ÂØ£øÚ 
¹. 10,00,000) ÷©ØTÔ¯ uPÁÀPÎ¼¸¢x Tmk¸ÁõUPzvØS ¬ß ©ØÖ® ¤ß EÒÍ Põ»zvØS »õ£ {mh AÔUøP u¯õº ö\´P.

30. Give the proforma of Profit and Loss account with schedules of a Banking Company.

Á[Q |Ö©zvß »õ£{mh PnUQß ©õv¶¨ £iÁzøu AmhÁønPÐhß u¸P.

–––––––––––
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

31. What is Book-Keeping? What are the various systems of Accounting?

PnUS HkPÒ £µõ©›¨¦ GßÓõÀ GßÚ? PnUQ¯¼ß £À÷ÁÖ •øÓPÒ ¯õøÁ?

32. Write a detailed note on ‘Accounting Standards’.

PnUQ¯À uµzøu £ØÔ J¸ Â›ÁõÚ ÂÍUP® u¸P.

33. What is Conversion Method? Mention the procedure to calculate profit by conversion method.

©õÖuÀ •øÓ GßÓõÀ GßÚ? ©õÖuÀ •øÓ°À C»õ£® AÀ»x |mh® PnUQk® ÁÈ•øÓø¯ ÂÁ›.

34. A firm’s net profit during the last three years were 
Rs. 90,000, Rs. 1,00,000 and Rs. 1,10,000. The capital employed in the firm is Rs. 3,00,000. A normal return on the capital is 10%. Calculate the value of goodwill on the basis of two years’ purchase of super profit.

{ÖÁÚzvß Ph¢u ‰ßÖ BskPÎß C»õ£[PÒ 
¹. 90,000, ¹. 1,00,000 , ¹. 1,10,000 BS®. {ÖÁÚzvß £¯ß£kzu¨£mh •uÀ ¹. 3,00,000. \õuõµn C»õ£® •uÀ «x 10% BS®. E¯º C»õ£zvß Cµsk Bsk öPõÒ•uÀ GßÓ Ai¨£øh°À |Øö£¯›ß ©v¨ø£U PnUQkP.

35. What are the entries for Revaluation of Assets and liabilities of a firm in the event of retirement of a partner?

TmhõÎ J¸Áº Â»S® ö£õÊx, Tmhõsø©°À ö\õzxUPøÍ²®, ö£õÖUPøÍ²® ©Ö ©v¨¥k ö\´Áuß £vÄPÒ ¯õøÁ?

36. Give the proforma P and L appropriation account.

»õ£  |mh JxURmkU PnUQß ©õv›¨ £iÁ® JßøÓ u¸P.

37. What are the various methods of calculating purchase consideration?

öPõÒ•uÀ ©Ö£¯ß PnUQh EÒÍ £À÷ÁÖ •øÓPÒ ¯õøÁ?

38. Write a detailed note on preparation of consolidated Balance Sheet.

J¸[QønUP¨£mh {v{ø» AÔUøP u¯õ›¨£øu¨ £ØÔ Â›ÁõÚ ÂÍUP® u¸P.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

39. From the following details, prepare trading, profit and loss a/c for the period ended 31.3.2007 and balance sheet on that date :

	
	As on 1.4.2006
Rs.
	As on 31.3.2007
Rs.

	Stock
	50,000
	25,000

	Sundry Debtors
	1,25,000
	1,75,000

	Cash
	12,500
	20,000

	Furniture
	5,000
	5,000

	Sundry Creditors
	75,000
	87,500


Other details :

Drawings Rs. 20,000; Discount received Rs. 7,500; Discount allowed Rs. 5,000; Sundry Expenses Rs. 17,500; Cash paid to Creditors Rs. 2,25,000; Cash received from Debtors 
Rs. 2,67,500; Sales Return Rs. 7,500; Purchase return 
Rs. 2,500; Cash sales Rs. 2,500.

RÌUPõq® ÂÁµ[PøÍU öPõsk 2007 ©õºa 31 B® |õ÷Íõk •iÁøh²® BskUS›¯ Â¯õ£õµ C»õ£ |mh PnUøP²®, A¢|õøÍ¯ C¸¨¦ {ø»U SÔ¨ø£²® u¯õº ö\´P.

	
	1.4.2006
¹.
	31.3.07
¹.

	\µUQ¸¨¦
	50,000
	25,000

	£Ø£» PhÚõÎPÒ
	1,25,000
	1,75,000

	öµõUP®
	12,500
	20,000

	AøÓP»ß
	5,000
	5,000

	£Ø£» PhÜ¢÷uõº
	75,000
	87,500


©ØÓ Â£µ[PÒ :

Gk¨¦ ¹. 20,000, ö£ØÓ uÒÐ£i ¹. 7,500, AÎzu uÒÐ£i ¹. 5,000, £ÀÁøP ö\»ÄPÒ ¹., 17,500, PhÜ¢÷uõ¸US AÎzu öµõUP® ¹. 2,25,000, PhÚõÎPÎhª¸¢x öµõUP® ö£ØÓx ¹. 2,67,500, ÂØ£øÚ v¸¨£® ¹. 7,500, öPõÒ•uÀ v¸¨£® ¹. 2,500, öµõUP ÂØ£øÚ ¹.2,500.

40. 
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X

,

 and 
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 were carrying a partnership business sharing profits in the ratio of 3 : 2 : 1. On 31st March 2005, the balance sheet of the firm stood as follows :

Balance Sheet

	Liabilities 
	Rs.
	Assets 
	Rs.

	Creditors
	30,000
	Bank 
	65,000

	General Reserve
	15,000
	Debtors
	40,000

	Capital X    2,00,000
	
	Stock
	80,000

	             Y    1,20,000
	
	Buildings 
	2,50,000

	             Z     1,00,000
	4,20,000
	P and L a/c
	30,000

	
	4,65,000
	
	4,65,000


Z retires  on April 1, 2005 on the following terms :

(a)
Buildings to be appreciated by Rs. 15,000

(b)
Provision for doubtful debts to be made at  6% on debtors 

(c)
Goodwill of the firm is valued at Rs. 18,000

(d)
Rs. 50,000 to be paid to Z immediately and the balance transferred to his loan a/c.


Prepare revaluation a/c, capital a/c, Bank a/c, and the balance sheet after Z’s retirement.
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 GßÓ TmhõÎPÒ •øÓ÷¯ 3 : 2 : 1 GÝ® ÂQuzvÀ C»õ£® £Qº¢x öuõÈÀ ¦›¢x Á¢uÚº. 2005 ©õºa 31 B® |õøÍ¯ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ.

C¸¨¦ {ø»USÔ¨¦ 

	ö£õÖ¨¦PÒ
	¹.
	ö\õzxUPÒ
	¹.

	PhÜ¢÷uõº
	30,000
	Á[Q 
	65,000

	ö£õxUPõ¨¦ 
	15,000
	PhÚõÎPÒ
	40,000

	•uÀ     X    2,00,000
	
	\µUQ¸¨¦ 
	80,000

	             Y    1,20,000
	
	Pmhh® 
	2,50,000

	             Z     1,00,000
	4,20,000
	C»õ£ |mh P/S
	30,000

	
	4,65,000
	
	4,65,000


¤ßÁ¸® £QºÄPÐUS Em£mk Y   Gß£Áº 2005, H¨µÀ 1 AßÖ Â»QÚõº. 

(A)
Pmhh® ¹. 15,000 ©v¨÷£ØÓ® ö\´Áx

(B)
PhÚõÎPÒ «x I¯UPhß JxUS 6% E¸ÁõUSÁx

(C)
|Øö£¯º ¹. 18,000 GÚ ©v¨¤kÁx 

(D)

Z Gß£Á¸USa ÷\µ ÷Ási¯ öuõøP°À ¹. 50,000 EhÚi¯õP, «vzöuõøP AÁ›ß Phß PnUSUS® ©õØÓ¨£mhx.


©Ö ©v¨¥mk P/S, •uÀ PnUSPÒ, Á[Q PnUS ©ØÖ® Zß Â»P¾US® ¤ß ¦v¯ C¸¨¦ {ø»U SÔ¨¦ BQ¯ÁØøÓ u¯õº ö\´P.

41. From the balance sheets given below prepare a consolidated balance sheet of Moti Ltd and its subsidiary company Choti Ltd. The interest of the minority shareholders is to be shown as a separate item. Shares were acquired on 1st January 1999.

Balance sheet of Moti Ltd as on 30th June 1999.

	Liabilities
	Rs.
	Assets
	Rs.

	Share capital :
	
	Fixed assets :
	

	15000   shares of 
	
	Land and building 
	1,20,000

	 Rs. 10 each
	1,50,000
	Plant and machinery 
	20,000

	General reserve
	20,000
	Current assets 
	58,000

	Profit and loss a/c
	30,000
	Investment  
	

	Creditors 
	25,000
	  2000 shares of Rs. 10 each
	

	
	
	   in Choti Ltd  
	27,000

	
	2,25,000
	
	2,25,000


Balance Sheet of Choti Ltd as on 30th June 1999

	
	
	Rs.
	
	Rs.

	Share capital 
	
	
	Fixed assets :
	

	3000 shares of Rs. 10 each 
	
	30,000
	Buildings 
	20,000

	Profit and loss a/c :
	
	
	Plant 
	20,000

	Balance on 1st July 1976
	4,500
	
	Current assets 
	10,000

	Add : Not profit for the year 
	6,000
	10,500
	
	

	Sundry Creditors 
	
	9,500
	
	

	
	
	50,000
	
	50,000


RÌUPõq® ÷©õv {Ö©®, CxÝøh¯ xøn {Ö©® ÷áõmi CÁØÔß C¸¨¦ {ø»U SÔ¨¦PÎ¼¸¢x, J¸[QønUP¨£mh C¸¨¦ {ø»USÔ¨¦ u¯õº ö\´P. ]Ö£õßø© £[SuõµºPÎß |»ßPøÍ uÛUSÔ¨£õP PõmhÄ®. £[SPÒ 1.1.99 AßÖ Áõ[Q¯x.

30.6.99 C¸¨¦ {ø»U SÔ¨¦ ÷©õv {Ö©®

	ö£õÖ¨¦PÒ
	¹.
	ö\õzxPÒ
	¹.

	£[S •uÀ :
	
	{ø»¯õÚ ö\õzxUPÒ :
	

	15000   £[SPÒ 
	
	{»® ©ØÖ® Pmih® 
	1,20,000

	 ¹. 10 Ãu® 
	1,50,000
	ö£õÔ ©ØÖ® C¯¢vµ® 
	20,000

	ö£õx Põ¨¦ 
	20,000
	|h¨¦ ö\õzxUPÒ  
	58,000

	C»õ£ |mh P/S
	30,000
	•u½k
	

	PhÚõÍºPÒ
	25,000
	  2000 £[SPÒ ¹. 10 Ãu®
	27,000

	
	2,25,000
	
	2,25,000


30.6.99 AßÖ C¸¨¦ {ø»U SÔ¨¦ &÷áõmi {Ö©®

	
	
	¹.
	
	¹.

	£[S•uÀ 
	
	
	{ø»¯õÚ ö\õzxUPÒ
	

	3000  £[SPÒ ¹. 10 Ãu® 
	
	30,000
	Pmih® 
	20,000

	C»õ£ |mh P/S
	
	
	ö£õÔ
	20,000

	1.7.96 C¸¨¦ 
	4,500
	
	|h¨¦ ö\õzxUPÒ
	10,000

	(+) |h¨¦ Bsk {Pµ C»õ£® 
	
6,000
	
10,500
	
	

	£Ø£» PhÚõÍºPÒ 
	
	9,500
	
	

	
	
	50,000
	
	50,000


42. Draft a model format of balance sheet of a company (with imaginary figures).

{Ö©zvØPõÚ C¸¨¦ {ø»U SÔ¨ø£ ÁøµP. (PØ£øÚ¯õÚ GsPÐhß)

43. Explain in detail about Accounting Concepts and conventions.

£À÷ÁÖ PnUQ¯À P¸zxUPøÍ²®, AÝ©õÚ[PøÍ²® ÂÁµ©õP GÊxP.

44. What is capital reduction? State its provisions?

•uÀ SøÓ¨¦ GßÓõÀ GßÚ? Auß åµzxUPøÍ TÖP.

45. What is Goodwill? What are various methods of calculating goodwill?

|Øö£¯º GßÓõÀ GßÚ? |Øö£¯º PnUQk® £À÷ÁÖ •øÓPÒ ¯õøÁ?

————————
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

All question carry equal marks.

46. What do you mean by Business Environment? What are the constituents of Business Environment?

ÁoP _ØÖa`ÇÀ GßÓõÀ GßÚ? Auß EÒÍhUP[PÒ ¯õøÁ?

47. What are the various socio-cultural factors relevant to Business Environment?

ÁoP _ØÖa`Ç¾hß öuõhº¦øh¯ \‰P P»õa\õµ PõµoPÒ ¯õøÁ?

48. What are the important responsibilities of a business towards its employees and customers?

öuõÈ»õÍºPÒ ©ØÖ® ~Pº÷Áõº \õº£õP ÁoPzvØSÒÍ ö£õÖ¨¦PÒ ¯õøÁ?

49. Bring out the Business ethics in detail.

""Â¯õ£õµ |ßöÚÔPÒ'' £ØÔ ÂÍUSP.

50. What are the benefits and negative  effects of Multinational Corporations?

£ßÚõmk {ÖÁÚ[PÎÚõÀ HØ£k® |ßø©PÐ®, Gvº©øÓ ÂøÍÄPÐ® ¯õøÁ?

51. Explain the role of commercial banks in developing business.

ÁoP ÁÍºa]US ÁoP Á[QPÎß £[QøÚ ÂÍUSP.

52. Describe some of the instruments of monetary policy.

£nU öPõÒøP°À £¯ß£k® £À÷ÁÖ \õuÚ[PøÍ ÂÍUSP.

53. Explain the impact of indirect taxation on business.

©øÓ•P Á›Âv¨¤ÚõÀ Â¯õ£õµzvÀ HØ£hUTi¯ ÂøÍÄPøÍ ÂÍUSP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

54. Why should the environment be scanned? What purpose would it serve?

_ØÖ `Çø» AÍÂmk £õº¨£uß Põµn[PÒ ¯õøÁ? Auß ‰»® HØ£k® |ßø©PÒ ¯õøÁ?

55. Explain the characteristics of demographic pattern in India.

C¢v¯ ©UPÒöuõøP Aø©¨¤ß ußø©PøÍ ÂÁ›.

56. Explain various provisions in Consumer Protection Act to protect consumers.

~Pº÷Áõº |»øÚ¨ £õxPõUP ~Pº÷Áõº £õxPõ¨¦ \mhzv¾ÒÍ £À÷ÁÖ A®\[PøÍ ÂÍUSP.

57. Discuss the impact of Political Environment on Business.

ÁoPzvß «x Aµ]¯À `Ì{ø»PÎß uõUP® £ØÔ ÂÍUSP.

58. Explain in detail the features and elements of economic environment.

ö£õ¸Íõuõµ `Ì{ø»°ß £À÷ÁÖ ußø©PøÍ²®, EmTÖPøÍ²® ÂÍUSP.

59. Discuss the changes that had been brought in Industrial Policy, 1991 and bring out the criticism.

1991 B® Bsk öuõÈØöPõÒøP°ÚõÀ HØ£mh ©õØÓ[PøÍ ÂÍUQ, Auß SøÓ£õkPøÍ²® ÂÍUSP.

60. Explain the various problems in selecting appropriate technology.

ö£õ¸zu©õÚ öuõÈÀ ~m£zvøÚ ÷uºÄ ö\´Áv¾ÒÍ £À÷ÁÖ Cøh³ÖPøÍ ÂÍUSP.

–––––––––
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Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

61. What are the causes of Low productivity in Agriculture?

ÂÁ\õ¯zvß SøÓ EØ£zvUPõÚ Põµn[PÒ ¯õøÁ?

62. What do you mean by Fiscal policy? What are its objectives?

Á›Âv¨¦U öPõÒøP GßÓõÀ GßÚ? Auß ÷|õUP[PÒ ¯õøÁ?

63. Explain the arguments in favour of Industrialisation in India.

C¢v¯õøÁ öuõÈÀ©¯©õUSÁuØS \õuP©õÚ Áõu[PøÍ ÂÍUSP.

64. Write a notes on Indian social system.

C¢v¯ \•uõ¯ Aø©¨¤øÚ £ØÔ J¸ SÔ¨¦ ÁøµP.

65. What  are the principles of capitalistic economic system?

•u»õÎzxÁ ö£õ¸ÍõuõµU öPõÒøP°ß uzxÁ[PÒ ¯õøÁ?

66. What do you mean by Technology? What are its features?

öuõÈÀ ~m£® GßÓõÀ GßÚ? Auß C¯À¦PÒ ¯õøÁ?

67. Explain the importance of Environmental awareness and scanning for business planning.

J¸ ÁõoP vmhzvØS _ØÖa`ÇÀ £ØÔ ÂÈ¨¦nºa] ©ØÖ® Auß Bµõ´a]°ß •UQ¯zxÁzøu Â›ÁõP GÊuÄ®.

68. What do you mean by mixed economy? What are its features?

P»¨¦¨ ö£õ¸Íõuõµ® GßÓõÀ GßÚ? Auß C¯À¦PÒ ¯õøÁ?

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions.

69. Explain the factors Influencing business environment.

ÁoP `Ì{ø»°ß «x BvUP® ö\¾zxQßÓ PõµoPøÍ ÂÍUSP.

70. Explain the social responsibilities of business to wards different groups.

£À÷ÁÖ ¤›ÄPÐUS Â¯õ£õµ® BØÖ® \‰P¨ ö£õÖ¨¦PÒ £ØÔ ÂÍUSP.

71. Critically evaluate the characteristics of Indian Economic system.

C¢v¯¨ ö£õ¸Íõuõµ •øÓ°ß C¯À¦PøÍ vÓÚõ´Ä ö\´P.

72. Explain the legislative measures taken in Indian to protect the interest of consumers.

~Pº÷Áõº £õxPõ¨¦UPõº ~Pº÷Áõ¸US \mh Ÿv¯õP AÎUP¨£k® £õxPõ¨¦PÒ £ØÔ ÂÍUSP.

73. Explain the credit control measures taken by the Reserve Bank of India in recent years.

|ÃÚ Põ»zvÀ C¢v¯ ›\ºÆ Á[Q GkzxÒÍ Phß Pmk¨£õmk |hÁiUøPPÒ £ØÔ ÂÍUSP.

74. Explain the  New Industrial Policy.

¦v¯ öuõÈÀ öPõÒøPø¯ ÂÁ›.

—————
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PART A — (5 ( 8 = 40 marks)  

Answer any FIVE questions

75. What are the characteristics of management accounting?

÷©»õsø©  PnUQ¯¼ß ]Ó¨¤¯À¦PÒ ¯õøÁ?

76. What is ‘Pay back period method’? What are its advantages?

‘v¸®£ u¸® Põ» •øÓ’  GßÓõÀ GßÚ? Auß |ßø©PÒ ¯õøÁ?
77. Explain the objectives of budgetary control.

©v¨¥mkU Pmk¨£õmiß ÷|õUP[PøÍ ÂÁ›.

78. From the following details you are required to calculate cash from operation :

	
	December 31

	
	2004
	2005

	
	Rs.
	Rs.

	Debtors 
	1,00,000
	94,000

	Bills receivable 
	20,000
	25,000

	Creditors 
	40,000
	50,000

	Bills payable 
	16,000
	12,000

	Outstanding expenses 
	2,000
	2,400

	Prepaid expenses 
	1,600
	1,400

	Accrued income 
	1,200
	1,500

	Income received in advance
	600
	500


Profit made during the year – Rs. 2,60,000.

¤ßÁ¸® C¸¨¦PÎ¼¸¢x ö\¯À ÁÈ öµõUP® PnUQkP.

	
	i\®£º 31

	
	2004
	2005

	
	¹.
	¹.

	PhÚõÎPÒ
	1,00,000
	94,000

	ö£ÖuØS›¯ ©õØÖ^mk
	20,000
	25,000

	PhÜ¢÷uõº
	40,000
	50,000

	ö\¾zxuØS›¯ ©õØÖa^mk
	16,000
	12,000

	öPõk£h ÷Ási¯ ö\»Ä 
	2,000
	2,400

	•ßTmi ö\¾zv¯ ö\»Ä 
	1,600
	1,400

	ö£Ó÷Ási¯ Á¸©õÚ® 
	1,200
	1,500

	•ßTmi ö£ØÓ Á¸©õÚ®
	600
	500


|h¨¦ Bsk C»õ£® ¹. 2,60,000.

79. From the following asset side of the balance sheet of 
A Ltd. For the year ended 31st December 2003 and 2004, prepare asset side of common size balance sheet.

                             (Rs. in lakhs)

	Assets
	2003
	2004

	
	Rs.
	Rs.

	Cash 
	100
	140

	Debtors 
	200
	300

	Stock 
	200
	300

	Land and buildings 
	400
	370

	Plant 
	300
	270

	Furniture 
	100
	140

	
	1,300
	1,520


A ¼ªöhmiß 2003 ©ØÖ® 2004 i\®£º 31À •i²® BskPÐUPõÚ C¸¨¦ {ø» SÔ¨¤ß ö\õzx £Sv R÷Ç uµ¨£mkÒÍx.  AÁØÔ¼¸¢x  AUPõ»zvØPõÚ ö£õx AÍÄ TØÔß ö\õzx £zvø¯  u¯õ›UPÄ®.

(¹£õ´ »m\[PÎÀ)

	ö\õzxUPÒ 
	2003
	2004

	
	¹.
	¹.

	öµõUP® 
	100
	140

	PhÚõÎPÒ
	200
	300

	\µUQ¸¨¦ 
	200
	300

	{»®, Pmih®
	400
	370

	P»ßPÒ 
	300
	270

	©øÚ xøn¨ ö£õ¸mPÒ
	100
	140

	
	1,300
	1,520


80. From the following particulars calculate the sales required to earn a profit of Rs. 1,20,000

	
	
Rs.

	Sales 
	6,00,000

	Variable cost 
	3,75,000

	Fixed cost 
	1,80,000


RÌPõq® ÂÁµ[PÎ¼¸¢x, C»õ£® ¹. 1,20,000 Áµ÷Ásk® GßÓõÀ ÂØ£øÚ GÆÁÍÄ C¸UP ÷Ásk® Gß£øuU PnUQkP.

	
	¹.

	ÂØ£øÚ 
	6,00,000

	©õÖ® ö\»ÄPÒ 
	3,75,000

	{ø»¯õÚ ö\»ÄPÒ
	1,80,000


81. From the following particulars, prepare production cost budget for the month of January 2007.

	Particulars
	Opening stock (1.1.2007)
	Closing stock (31.01.2007)

	Finished goods 
	    1200 units 
	    1600 units 

	Raw material A
	5000 kg
	4800 kg

	Raw material B 
	2000 kg 
	3100 kg


(a)
Budgeted sales for the month - 7000 units

(b)
Raw materials required to produce one unit


A–4 kg at Rs. 8 per kg ; B–2 kg at Rs. 25 per kg.

RÌUPõq® ÂÁµ[PÎ¼¸¢x, áÚÁ› 2007 ©õuzvØPõÚ EØ£zv ö\»Ä ÁµÄ ö\»Ä vmhzøu u¯õ›UPÄ®.

	
	Bµ®£ C¸¨¦ (1.1.2007)
	CÖv C¸¨¦ (31.01.2007)

	•iÁØÓ ö£õ¸mPÒ 
	     1200 A»SPÒ  
	    1600 A»SPÒ 

	‰»¨ö£õ¸mPÒ : A
	5000 Q÷»õ
	4800 Q÷»õ

	‰»¨ö£õ¸mPÒ : B
	2000 Q÷»õ 
	3100 Q÷»õ


(A)
C®©õu® ÂØ£øÚ ö\´¯ vmhªh¨£mkÒÍ •iÁØÓ  ö£õ¸mPÒ  – 7000 A»SPÒ 

(B)
Kº A»S u¯õ›UP ÷uøÁ¯õÚ ‰»¨ö£õ¸mPÒ 


A–4 Q÷»õ, Âø» Q÷»õ JßÖ  ¹. 8 Ãu® ;


B–2 Q÷»õ, Âø» Q÷»õ JßÖ  ¹. 25 Ãu® ;

82. A company is selling goods both on cash and credit basis. From the following information calculate average collection period.

	
	
Rs.

	Total sales 
	1,00,000

	Cash sales 
	20,000

	Sales returns 
	7,000

	Debtors (31.12.2006)
	9,000

	Bills receivable (31.12.2006)
	2,000

	Reserve for doubtful debts (31.12.2006)
	1,000

	Bad debts  previously written off now recovered
	500


Kº {Ö©® PhÝUS®, öµõUPzvØS® \µUSPøÍ  ÂØQÓx. ¤ßÁ¸® ÂÁµ[PÎ¼¸¢x, \µõ\› Á`À Põ»zøuU PnUQkP.

	
	¹.

	ö©õzu ÂØ£øÚ
	1,00,000

	öµõUP ÂØ£øÚ
	20,000

	ÂØ£øÚ v¸¨£® 
	7,000

	PhÚõÎPÒ (31.12.2006)
	9,000

	ö£ÖuØS›¯ ©õØÖa^mk (31.12.2006)
	2,000

	I¯UPhß Põ¨¦  (31.12.2006)
	1,000

	•ß¦ ÁµõU Phß }UQ¯x. uØö£õÊx ö£Ó¨£mhx.
	500


PART B — (4 ( 15 = 60 marks)  

Answer any FOUR questions.

83. Explain the advantages of limitations of marginal costing.

CÖv {ø»  AhUP ö\»Ä PnUS •øÓ°ß |ßø©PøÍ²® SøÓ£õkPøÍ²® ÂÍUSP.

84. What is a report? Explain the essentials of a good report?

uPÁÀ AÔUøP GßÓõÀ GßÚ? J¸ |À» uPÁÀ AÔUøP°ß ÷uøÁPøÍ ÂÁ›.

85. What are the financial statements? Explain the different tools used in financial statement analysis.

{v AÔUøPPÒ GßÓõÀ GßÚ? {v AÔUøP B´ÄUPõP £¯ß£kzu¨£k® £À÷ÁÖ  P¸ÂPÒ £ØÔ ÂÍUSP.

86. The cost of an article at a capacity level of 5000 units is given below.

	
	
Rs.
	

	Material cost 
	25,000
	(100% variable)

	Labour cost 
	15,000
	(100% variable)

	Power
	1,250
	(80% variable)

	Repairs and maintenance 
	2,000
	(75% variable)

	Stores 
	1,000
	(100% variable)

	Inspection 
	500
	(20% variable)

	Depreciation 
	10,000
	(100% variable)

	Administrative overheads
	5,000
	(25% variable)

	Selling overheads 
	3,000
	(25% variable)

	
	62,750
	


Cost per unit is Rs. 12.55

Find out unit cost of product at production  levels of 4000 units and 6000 units.

EØ£zv {ø» 5000 A»SPÐUS BS® J¸ ö£õ¸Îß AhPU Âø» ÂÁµ[PÒ R÷Ç öPõkUP¨£mkÒÍÚ. 4000 A»SPÒ ©ØÖ® 6000 A»SPÒ EØ£zv {ø»US J¸ A»Qß AhUP Âø» PõmkP.

	
	¹÷.
	

	‰»¨ö£õ¸Ò AhUP® 
	25,000
	(100% ©õÖ®)

	EøÇ¨¦ AhUP®
	15,000
	(100% ©õÖ®)

	ªß\Uv 
	1,250
	(80% ©õÖ®)

	£Êx£õº¨¦ ©ØÖ® £µõ©›¨¦ 
	2,000
	(75% ©õÖ®)

	£shP® 
	1,000
	(100% ©õÖ®)

	B´Ä 
	500
	(20% ©õÖ®)

	÷u´©õÚ® 
	10,000
	(100% ©õÖ®)

	{ºÁõP ö\»ÄPÒ
	5,000
	(25% ©õÖ®)

	ÂØ£øÚ ÷©Øö\»ÄPÒ
	3,000
	(25% ©õÖ®)

	
	62,750
	


J¸ A»Qß AhUP® ¹. 12.55.

87. The following is the comparative balance sheet of Lakshmi Ltd. Prepare a funds flow statement.

Balance Sheet

	Liabilities
	31.12.2000
	
	31.12.2001
	Assets 
	31.12.2000
	
	31.12.2001

	
	Rs.
	
	Rs.
	
	Rs.
	
	Rs.

	Share capital 
	8,000
	
	8,500
	Land 
	5,000
	
	5,000

	P and L 
	
	
	
	Plant 
	2,400
	
	3,400

	appropriation  a/c
	1,450
	
	2,450
	Debtors 
	1,650
	
	1,950

	Creditors 
	900
	
	500
	Stock 
	900
	
	700

	Loan 
	–
	
	500
	Cash at 
	
	
	

	
	
	
	
	  bank
	400
	
	900

	
	10,350
	
	11,950
	
	10,350
	
	11,950


RÌUPõq® C¸¨¦ {ø»U SÔ¨¦¼¸¢x »m_ª {Ö©zvß {v Kmh AÔUøP°øÚ u¯õ›UP.

C¸¨¦ {ø» SÔ¨¦

	ö£õÖ¨¦PÒ
	31.12.2000
	
	31.12.2001
	ö\õzxUPÒ
	31.12.2000
	
	31.12.2001

	
	¹.
	
	¹.
	
	¹.
	
	¹.

	£[S •uÀ 
	8,000
	
	8,500
	{»® 
	5,000
	
	5,000

	»õ£ |mh 
	
	
	
	ö£õÔÁøP 
	2,400
	
	3,400

	  £QºÄ PnUS
	1,450
	
	2,450
	PhÚõÎPÒ 
	1,650
	
	1,950

	PhÜ¢÷uõº
	900
	
	500
	\µUQ¸¨¦ 
	900
	
	700

	Phß
	–
	
	500
	Á[Q°¸¨¦ 
	400
	
	900

	
	10,350
	
	11,950
	
	10,350
	
	11,950


88. Ganesh Ltd is considering the purchase of a new machine. Two alternate machines, A and B have been suggested, each having an initial cost of Rs. 4,00,000 and requiring Rs. 4,00,000 and requiring Rs. 20,000 as additional working capital  at the end of 1st Year. Earnings after taxation are expected to be as follows :

	Year
	Cash Inflows 

	
	Machine A
	Machine B 

	
	Rs.
	Rs.

	1
	40,000
	1,20,000

	2
	1,20,000
	1,60,000

	3
	1,60,000
	2,00,000

	4
	2,40,000
	1,20,000

	5
	1,60,000
	80,000


The company has a target of return at 10%. Company the profitability of the machines and state which alternative you consider financially preferable.

Present value factors at 10%

	Year :
	1
	2
	3
	4
	5

	Present value Re. 1 at 10%
	0.91
	0.83
	0.75
	0.68
	0.62


P÷nè ¼m J¸ ¦v¯ ö£õÔø¯ Áõ[P wº©õÛzxÒÍx. A ©ØÖ® B   GßÓ C¸ ö£õÔPÎÀ  JßøÓ Áõ[P ÷Ásk®. JÆöÁõßÔß Bµ®£ •u½mk    öuõøP ¹. 4,00,000 ©ØÖ® •u»õ® Bsk CÖv°À ÷uøÁ¨£k® CÖv  •uÀ ¹. 20,000 BS®. Á› ÷£õP QøhUS® Á¸Áõ´ •øÓ÷¯.

	Bsk
	EÒÁ¸ öµõUP®

	
	ö£õÔ A
	ö£õÔ B 

	
	¹.
	¹.

	1
	40,000
	1,20,000

	2
	1,20,000
	1,60,000

	3
	1,60,000
	2,00,000

	4
	2,40,000
	1,20,000

	5
	1,60,000
	80,000


{Ö©zvß C»US •u½miß «x 10% Á¸Áõ´ GßÓ Ai¨£øh°À G¢u ö£õÔø¯ Áõ[QÚõÀ C»õ£Pµ©õP C¸US® GÚ B÷»õ\øÚ TÓÄ®.

	Bsk :
	1
	2
	3
	4
	5

	¹. 1ß uØ÷£õøu¯ ©v¨¦ 
(10% Ai¨£øh°À) :
	0.91
	0.83
	0.75
	0.68
	0.62


89. Following are the ratios relating to Rajam Ltd.

Gross profit ratio 

15%

Stock velocity 


6 months

Debtors velocity 

3 months

Creditors velocity 

3 months 

Gross profit for 2005 

Rs. 60,000

Closing stock is equal to opening stock

Find out :

(a)
Sales 

(b)
Closing stock

(c)
Debtors 

(d)
Creditors.

µõá® ¼m {Ö©zvß ÂQu[PÒ  R÷Ç öPõkUP¨£mkÒÍÚ.

ö©õzu »õ£ ÂQu® 

15%

\µUS _ÇØ]  


6 ©õu[PÒ

PhÚõÎPÒ _ÇØ]  

3 ©õu[PÒ

PhÜ¢÷uõº _ÇØ] 

3 ©õu[PÒ

2005 ® Á¸h ö©õzu »õ£® 
¹. 60,000

Á¸h Bµ®£zv¾®, •iÂ¾® \µUQ¸¨¦ J÷µ AÍÄ C¸¢ux.

PnUQkP :

(A)
ÂØ£øÚ

(B)
CÖva \µUQ¸¨¦ 

(C)
PhÚõÎPÒ 

(D)
PhÜ¢÷uõºPÒ.

———————
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

90. Distinguish between Management Accounting and Financial Accounting.

÷©»õsø© PnUQØS® {v PnUQØS® EÒÍ ÷ÁÖ£õkPøÍ GÊxP.

91. How is break even point computed? List out its limitations.

\›\© ¦ÒÎ GÆÁõÖ PnUQh¨£kQÓx? Auß SøÓ£õkPøÍ Á›ø\¨£kzxP.

92. Write short notes on :

(a)
Comparative statements

(b)
Common size statement

(c)
Trend analysis

(d)
Cash flow statement.

]Ö SÔ¨¦UPÒ GÊx.

(A)
J¨¥mk AÔUøP

(B)
ö£õx AÍÄ AÔUøP

(C)
÷£õUS¨ £S¨£õ´Ä

(D)
öµõUP Kmh AÔUøP.

93. What is schedule of changes in working capital? How do you prepare it?

|øh•øÓ •uÀ ©õØÓ AÔUøP GßÓõÀ GßÚ? Aøu G[VÚ® u¯õº ö\´Áõ´?

94. Describe briefly functional types of budget.

£o Ai¨£øh ÁøP vmh[PøÍ _¸UP©õP ÂÍUS.

95. Explain briefly the merits and demerits of marginal costing.

CÖv {ø»a ö\»Âß |ßø©PÒ ©ØÖ® wø©PøÍ _¸UP©õP ÂÁ›.

96. Discuss the functions of management accountant.

÷©»õsø©U PnUPõÍ›ß £oPøÍ ÂÁõv.

97. What are the managerial uses of ratio analysis? Bring out its limitation.

ÂQu¨ £S¨£õ´Ä ÷©»õsø©US G[VÚ® £¯ß£kQÓx? Auß SøÓ£õkPøÍU öPõnºP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

98. Elucidate the nature and scope of management accounting.
÷©»õsø© PnUQß ußø©ø¯²® Auß ÷|õUS GÀø»ø¯²® ÂÁ›.

99. From the following information prepare balance sheet of Shyam Ltd.

(a)
Stock turnover ratio – 6.

(b)
Capital turnover ratio – 2.

(c)
Fixed asset turnover ratio – 4.

(d)
Gross profit turnover ratio – 20%.

(e)
Debtors velocity – 2 months.

(f)
Creditors velocity – 73 days.


Gross Profit was Rs. 60,000. Reserves and surplus was Rs. 20,000 closing stock was Rs. 5,000 in excess of opening stock,

RÌUPõq® ÂÁµ[PÎ¼¸¢x ]¯õ® ¼ªöhmiß C¸¨¦ {ø»U SÔ¨ø£ u¯õ›UPÄ®.

(A)
\µUS Kmh ÂQu® – 6

(B)
‰»uÚ Kmh ÂQu® – 2

(C)
{ø»¯õÚ ö\õzx Kmh ÂQu® – 4

(D)
ö©õzu »õ£ ÂØ£øÚ ÂQu® – 20%

(E)
PhÚõÎPÒ }Ìa] – 2 ©õu[PÒ

(F)
PhÜ¢÷uõº }Ìa] – 73 |õmPÒ,


ö©õzu C»õ£® ¹. 60,000, Põ¨¦UPÒ ©ØÖ® C»õ£® ¹. 20,000. CÖva \µUQ¸¨¦ öuõhUP \µUQ¸¨ø£ Âh ¹. 5,000 AvP©õ´ C¸¢ux.

100. Prepare a flexible budget from the following data at 50% and 70% capacity.

	
	At 60% capacity
Rs.

	Variable Overhead
	

	
Indirect material
	6,000

	
Indirect labour
	18,000

	Semi-variable overhead
	

	
Electricity (40% fixed)
	30,000

	
Repairs (20% Variable)
	3,000

	Fixed overhead
	

	
Depreciation
	16,500

	
Insurance
	4,500

	
Salaries
	15,000


RÌUPsh uPÁÀPøÍ öPõsk 50% ©ØÖ® 70% vÓß öPõsh J¸ ö|QÌ ÁµÄ ö\»Ä vmhzvøÚ u¯õº ö\´P.

	
	60%  vÓß 
¹.

	©õÖ£k® ö\»Ä
	

	
©øÓ•P ‰»¨ö£õ¸Ò
	6,000

	
©øÓ•P T¼
	18,000

	£Sv – ©õÖ£k® ö\»Ä
	

	
ªß Pmhn® (40% {ø»¯õÚx)
	30,000

	
£Êx £õº¨¦ (20% ©õÖ£k®)
	3,000

	{ø»¯õÚ ö\»Ä
	

	
÷u´©õÚ®
	16,500

	
Põ¨¥k
	4,500

	
\®£Í®
	15,000


101. The balance sheet of Naveen Ltd., as on 31st December 2004 and 2005 are as follows :

	Liabilities
	2004
Rs.
	2005
Rs.
	Assets
	2004
Rs.
	2005
Rs.

	Share capital
	5,00,000
	7,00,000
	Buildings
	80,000
	1,20,000

	Profit & Loss a/c
	1,00,000
	1,60,000
	Machinery
	5,00,000
	8,00,000

	General reserve
	50,000
	70,000
	Stock
	1,00,000
	75,000

	Creditors
	1,53,000
	1,90,000
	Debtors
	1,50,000
	1,60,000

	Bills payable
	40,000
	50,000
	Cash
	20,000
	20,000

	Outstanding 
  expenses
	7,000
	5,000
	
	
	

	
	8,50,000
	11,75,000
	
	8,50,000
	11,75,000


(a)
Rs. 50,000 depreciation has been charged on machinery during 2005.

(b)
A piece of machinery was sold for Rs. 8,000 during the year. It had cost Rs. 12,000. Depreciation of Rs. 7,000 had been provided on it.


Prepare a fund flow statement for 2005.

2004 ©ØÖ® 2005 ® |õøÍ¯ |Ãß ¼ªöhmiß C¸¨¦ {ø»U SÔ¨¦ RÌUPshÁõÖ EÒÍx.

	ö£õÖ¨¦PÒ
	2004
¹.
	2005
¹.
	ö\õzxUPÒ
	2004
¹.
	2005
¹.

	£[S •uÀ
	5,00,000
	7,00,000
	Pmih®
	80,000
	1,20,000

	C»õ£ |mh P/S
	1,00,000
	1,60,000
	C¯¢vµ®
	5,00,000
	8,00,000

	ö£õx Põ¨¦
	50,000
	70,000
	\µUQ¸¨¦
	1,00,000
	75,000

	PhÜ¢÷uõº
	1,53,000
	1,90,000
	PhÚõÎPÒ
	1,50,000
	1,60,000

	ö\¾zuØS›¯ 
	
	
	öµõUP®
	20,000
	20,000

	  ©õØÖa^mk
	40,000
	50,000
	
	
	

	öPõk£hõ ö\»Ä
	7,000
	5,000
	
	
	

	
	8,50,000
	11,75,000
	
	8,50,000
	11,75,000


(A)
2005 ® Á¸hzvß C¯¢vµzvØPõÚ ÷u´©õÚ® 
¹. 50,000.

(B)
2005 ® Á¸hzvß C¯¢vµzvß J¸ £Sv ¹. 8,000 US ÂØP¨£mhx. Auß AhUPÂø» ¹. 12,000. Auß «x AÝ©vUP¨£mh ÷u´©õÚ® ¹. 7,000.


2005 ® BsiØPõÚ {v Kmh AÔUøPø¯ u¯õº ö\´P.

102. (a)
Profit volume ratio of a firm is 50% and the margin of safety is 40%. You are required to work out break even sales and the net profit if the sales volume is Rs. 50,00,000.

(b)
You are given the following data for the year 2006 of the company :


Variable cost
–
Rs.   6,00,000


Fixed cost 
–
Rs.   3,00,000


Sales
–
Rs. 10,00,000


Find :


(i)
P/V ratio.


(ii)
Break even sales.


(iii)
Profit when sales are Rs. 12,00,000


(iv)
Sales required to earn a profit of Rs. 2,00,000.


(v)
Margin of safety.

(A)
J¸ {ÖÁÚzvß C»õ£ £[PÎ¨¦ ÂQu® 50% ©ØÖ® £õxPõ¨¦ ÂÎ®¦ 40%. ¹. 50,00,000 ÂØ£øÚ°À QøhUPUTi¯ \›\© ÂØ£øÚ ©ØÖ® {Pµ »õ£zøu PnUQkP.

(B)
J¸ {Ö©zvß 2006 –® Á¸hzv¯ uPÁÀPÒ R÷Ç öPõkUP¨£mkÒÍx.


©õÖ£k® AhUP Âø»
–
¹.   6,00,000


{ø»¯õÚ AhUP Âø»
–
¹.   3,00,000


ÂØ£øÚ


–
¹. 10,00,000

PnUQkP :


(i)
C»õ£ £[PÎ¨¦ ÂQu®

(ii)
\›\© ÂØ£øÚ

(iii)
¹. 12,00,000 ÂØ£øÚ°À QøhUPUTi¯ »õ£®

(iv)
¹. 2,00,000 C»õ£® QøhUPUTi¯ ÂØ£øÚ.

(v)
£õxPõ¨¦ ªSv Ga\®.
103. What is cash flow analysis? State its objectives. How do funds flow differ from cash flow analysis?

öµõUP Kmh¨ £S¨£õ´Ä GßÓõÀ GßÚ? Auß ÷|õUP[PøÍ GÊx. {v Kmh £S¨£õ´Ä öµõUP Kmh £S¨£õ´Â¼¸¢x G[VÚ® ÷ÁÖ£kQÓx?

104. Describe the essentials of effective budgeting.

ÁµÄ ö\»Ä vmhzvß |À» ]Ó¨£®\[PøÍ ÂÍUS.

–––––––––––––––––
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Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions

105. What are the components of financial markets?

{va \¢øuPÎß Ai¨£øhU TÖPÒ ¯õøÁ?

106. Distinguish between Hire Purchase and Leasing.

ÁõhøPU öPõÒ•u¾US®, SzuøP {vÁÇ[P¾US•ÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?

107. What are the general benefits of Mutual funds?

£µì£µ {v¯zvß ö£õxÁõÚ¨ £¯ßPÒ ¯õøÁ?

108. State the features imposed in Bills Discounting.

©õØÖa ^mkPøÍ uÒÐ£i ö\´u¼ß Ai¨£øh¨ £s¦PøÍ SÔ¨¤kP.

109. Mention the guidelines laid down by the R.B.I. relating to factoring.

Põµo¨£kzxu¼øÚ, ›\ºÆ Á[Q GÆÁõÖ ÁÈ |hzxQÓx Gß£øuU SÔ¨¤kP.

110. What is meant by Exchange Rate? State its significance.

©õØÖÃu® GßÓõÀ GßÚ? Auß •UQ¯zxÁzvøÚU SÔ¨¤kP.

111. What are the drawbacks of credit Rating?

Phßuµ ©v¨¥miß SøÓ£õkPÒ ¯õøÁ?

112. Distinguish between Discounting and Factoring.

uÒÐ£i ö\´uÀ ©ØÖ® Põµo¨£kzxu¾US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

113. Explain, in detail the importance of financial services.

{v°¯À ÷\øÁPÎß •UQ¯zxÁzvøÚ ÂÁ›.

114. Describe the role of financial services in developing the economic growth of a country.

J¸ |õmiß ö£õ¸Íõuõµ ÁÍºa]US {v°¯À ÷\øÁPÎß £[QøÚ ÂÍUSP.

115. Explain the functions of Commercial Bank.

ÁoP Á[QPÎß ö\¯À£õkPøÍ ÂÍUSP.

116. Explain the criteria for deciding credit rating of financial institutions.

{v\õº¢u {ÖÁÚ[PÎß uµ©v¨¥k ö\´ÁuØPõÚ ÁÈ•øÓPøÍ ÂÍUSP.

117. Discuss the role of merchant banks in raising Foreign Capital.

A¢{¯ •u½miøÚ E¯ºzxÁuØPõÚ Â¯õ£õµ Á[Q¯›ß £[QøÚ ÂÁõvUP.

118. Describe the various methods of evaluating the venture capital investments.

ÂøÚ•uÀ •u½miøÚ ©v¨¥k ö\´ÁuØPõÚ £À÷ÁÖ •øÓPøÍ ÂÁ›UP.

119. Analyse the working/functions of credit card systems in India.

C¢v¯õÂÀ Phß E›ø© Amøh•øÓ°ß ö\¯À£õkPøÍ £Szuõ´Ä ö\´P.

———————
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

120. What factors to be considered before introducing a new product?

¦v¯ ö£õ¸øÍ AÔ•P® ö\´²® •ß Bµõ¯¨£h ÷Ási¯ PõµoPÒ ¯õøÁ? 

121. What is the need for Marketing Research?

\¢øu°køP Bµõ´a]°ß ÷uøÁ GßÚ?

122. Explain what is meant by commodity approach to the study of Marketing.

\µUS AqS•øÓ ‰»® \¢øu°køP¨ £i¨£x GßÓõÀ GßÚ Gß£øu ÂÍUSP.

123. Distinguish between trade mark and brand name.

ÁõoPU SÔø¯²®, •zvøµ¨ ö£¯øµ²® ÷ÁÖ£kzxP.

124. What do you understand by Test marketing?

÷\õuøÚa \¢øu°køP Gß£v¼¸¢x }º AÔ¢x öPõÒÁx ¯õx?

125. What are the objectives of pricing decision?

Âø» {ºn¯z wº©õÚ[PÎß ÷|õUP[PÒ ¯õøÁ?

126. Explain the different elements of marketing mix.

\¢øu°køPU P»¨¤ß £À÷ÁÖ TÖPøÍ ÂÍUSP.

127. What is personal selling? Explain its importance.

BÒ\õº ÂØ£øÚ GßÓõÀ GßÚ? Auß •UQ¯zxÁzøu ÂÁ›.
PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

128. What functions does packaging perform? Illustrate with examples. What are the criteria of a good package?

Pmk©zvß £oPÒ ¯õøÁ? CuøÚ uS¢u GkzuUPõmkPÐhß ÂÍUSP. J¸ |À» Pmk©zvß C¯À¦PÒ ¯õøÁ?
129. What is consumer orientation in marketing?

\¢øu°køP°À ‘~Pº÷Áõº \õº¦’ GßÓõÀ GßÚ?

130. Explain the different stages of a product life cycle.

J¸ ö£õ¸Ò B²m _ÇØ]°¾ÒÍ £À÷ÁÖ {ø»PøÍ ÂÍUSP.

131. Explain the essential features of a sound advertisement policy.

J¸ ]Ó¢u ÂÍ®£µU öPõÒøP°ß •UQ¯ A®\[PøÍ ÂÍUSP.

132. “Marketing is the creation and delivery of standard of living” – Discuss.

“\¢øu°À ©UPÐUS ÁõÌUøPz uµzøu E¸ÁõUQ²® AÎUPÄ® ö\´QÓx” ÂÁõv.
133. Explain the two models of consumer behaviour.

~Pº÷Áõº ö\¯À£õk £ØÔ H÷uÝ® Cµsk öPõÒøP ©õv›PøÍ ÂÍUSP.

134. Explain the various bases for market segmentation.

\¢øu £kzxu¼ß £À÷ÁÖ Ai¨£øhU TÖPÒ £ØÔ ÂÍUSP.

———————
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SECTION A – (5 × 8 = 40 marks)

Answer any FIVE questions.

All questions carry equal marks.

135. State the importance of marketing.

\¢øu°køPUPõÚ •UQ¯zxÁzøu ÂÁ›UP.

136. What is the importance of break even point in pricing decision?

C»õ£ |èh® CÀ»õu ø©¯¨¦ÒÎ Âø» {ºn¯zvß •UQ¯zxÁ® ¯õx?

137. List out the functions of branding.

SÔ±miß £oPÒ ÂÁ›UP.

138. Describe the objectives of distribution channel.

£shP¨ £QºÂß ÷|õUP[PøÍ ÂÁ›UP.

139. List out the Qualities of a good salesman.

J¸ |À» ÂØ£øÚ¯õÍ›ß uSvPøÍ Á›ø\¨£kzxP.

140. Write a note on Rights of a consumer.

~Pº÷Áõ›Ýøh¯ E›ø©PøÍ GÊxP.

141. What are the contents of an advertising copy?

J¸ ÂÍ®£µ |P¼ß EÒÍhUP[PÒ ¯õøÁ?

142. List out briefly the various types of consumers behaviour theories.

£À÷ÁÖ ÁøP¯õÚ ~Pº÷Áõº |hÁiUøPPÎß ÂvPøÍ ÂÍUSP.

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.
143. Explain the impact of environmental forces of marketing.

\¢øu°ku¼ß _ØÖ¨¦ PõµoPÍõÀ HØ£k® uõUPzøu ÂÁ›UP.

144. What is meant by buying motives of consumers? Explain the various types of buying motives.

£shP ~P›ß ÷|õUP® GßÓõÀ GßÚ? ÷©¾® £À÷ÁÖ ÁøP¯õÚ £shP ~PºÄ ÷|õUP[PøÍ ÂÁ›.

145. List out the factors to be considered while introducing a new product.

¦v¯ £shPzøu AÔ•P¨£kzx® ö£õÊx ©ÚvÀ öPõÒÍ ÷Ási¯ PõµoPøÍ GÊxP.

146. Mention various kinds of pricing.

Âø» {ºn¯U ÷Põm£õmiß ÁøPPøÍ TÖ.

147. What are the major factors to be considered for selecting channels of distribution for industrial goods?

£sh £QºÄ •øÓPøÍ ÷uºÄö\´²®ö£õÊx ©ÚvÀ öPõÒÍ ÷Ási¯ •UQ¯ PõµoPÒ ¯õøÁ?

148. Explain the factors that should be considered while selecting advertising media.

ÂÍ®£µ FhPzøu ÷uºÄ ö\´²® ö£õÊx ©ÚvÀ öPõÒÍ ÷Ási¯ •UQ¯ PõµoPøÍ ÂÁ›UP.

149. What measures can be adopted to protect consumers?

~Pº÷Áõøµ £õxPõ¨£uØS ÷uøÁ¨£k® |hÁiUøPPÒ ¯õøÁ?

———————
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions

150. Draw block diagram of a digital computer and explain the components.

iâmhÀ PoÛ°ß £õP[PøÍ ‘block’ £h® Áøµ¢x ÂÍUSP.

151. Discuss various classification of computers.

£»uµ¨£mh PoÛPøÍ ÂÁ›.

152. Write a note on extended data processing systems.

Â›ÁõUP¨£mh uPÁÀ ö\¯À£õmk •øÓPÒ £ØÔ J¸ SÔ¨¦ GÊxP.

153. What is a decision table? Illustrate the use of decision table with a suitable example.

•iÄ AmhÁøn GßÓõÀ GßÚ? uS¢u Euõµnzxhß •iÄ AmhÁønø¯ ÂÍUSP.

154. What is planning in data processing? Explain with a suitable example.

uPÁÀ ö\¯À£õmiÀ vmh® GßÓõÀ GßÚ? uS¢u Euõµnzxhß ÂÍUSP.

155. Write a program to create a master file relating to employees.

FÈ¯ºPÒ \®£¢u¨£mh ußø© Hk E¸ÁõUP ‘¦÷µõQµõ®’ GÊxP.
156. Write a program to update an existing file.

HØPÚ÷Á EÒÍ Hk JßøÓ ‘update’ ö\´¯ J¸ ¦÷µõQµõ® GÊxP.

157. What is direct storage access? Explain direct storage access.

‘Direct’ ÷\ª¨¦ \õuÚ ‘access’ GßÓõÀ GßÚ? Aøu ÂÍUSP.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

158. Develop an inventory control system for Large Scale firm.

ö£›¯ {ÖÁÚzvÀ ‘inventory control’ •øÓø¯ u¯õ›UPÄ®.
159. Write note on

(a)
Batch systems.

(b)
Real – time systems

(c)
Time shared system.

SÔ¨¦PÒ GÊx.

(A)
Âmk Âmk ö\¯À£k•øÓPÒ

(B)
Real time •øÓPÒ
(C)
Põ»g\õº £[S•øÓPÒ.

160. Describe the production planning and control.

EØ£zv vÓß vmh® ©ØÖ® vÓß Pmk¨£õk •øÓø¯ ÂÁ›UPÄ®.

161. Explain the on-line applications

(a)
Air line reservation and 

(b)
Management of stores.

(A)
Â©õÚ £¯n•ß £vÄ

(B)
PøhPÒ ÷©»õsø© BQ¯ EhÝUShß ö\¯À£k® £¯ß£õkPøÍ ÂÍUSP.

162. Give an account of real time business applications.

Ehß ö\¯À£k® Â¯õ£õµ® £¯ß£õk £ØÔ J¸ P¸zxU ÷PõøÁ u¯õ›UPÄ®.

163. Explain various Top-down programming techniques for data processing.

£»uµ¨£mh ‘Top-down Programming Technique’ PøÍ ÂÍUSP.

164. Write note on 

(a)
Auxiliary storage devices

(b)
Structured programming

(c)
Program flow charts.

(A)
xøn ÷\ª¨¦ \õuÚ[PÒ

(B)
“Aø©¨¦ ¦÷µõQµõ®”

(C)
¦÷µõQµõ® Flow charts 

BQ¯Ú £ØÔ SÔ¨¦ GÊxP.

———————
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Answer any FIVE questions.

165. Comment on the Risks involved in investing securities.

£zvµ[PÎÀ •u½k ö\´ÁvÀ EÒÍ ChºPøÍ £ØÔ SÔ¨¦ ÁøµP.

166. Mention the salient features of preference shares.

•ßÝ›ø©¨ £[SPÎß Sn|»ßPøÍ SÔ¨¤kP.

167. Mention the salient characteristics of Equity Shares.

\õuõµn¨ £[SPÎß Sn|»ßPøÍ SÔ¨¤kP.

168. What do you know about Rights Issue?

E›ø©¨ £[SPÒ £ØÔ {Ãº AÔÁx ¯õx?

169. Enumerate the principles of portfolio Management.

C»õUPõ •u½mk ÷©»õsø©°ß öPõÒøPPÒ ¯õøÁ?

170. Compare and contrast Trey nor and Sharpe measure portfolio evaluation.

møµÚº ©ØÖ® åõº¨ C»õUPõ ©v¨¥mk ÷Põm£õkPøÍ ^ºyUQ A»_P.

171. Distinguish between Investment and speculation.

•u½k, FP ÁoP® CÁØøÓ ÷ÁÖ£kzxP.

172. Expedite a brief classification on Formula plans.

`zvµz vmhzvß ÁøPPøÍ £mi¯¼kP.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

173. “The stock Exchange is the pulse of the Economy”–Discuss.

“£[S \¢øu÷¯ |õmiß ö£õ¸Íõuõµ E°÷µõmh®”– ÂÁõv.
174. Write a brief note on applications and uses of Dow theory.

÷hõÆ ÷Põm£õmiß £¯ß£õmøh ÂÁ›UPÄ®.

175. Illustrate the basic assumption of CAPM model in detail.

“CAPM” ÷Põm£õmiß AÝ©õÚ[PøÍ ÂÍUSP.

176. State procedure and limitations of fundamental analysis.

Ai¨£øh £S¨£õ´Ä ö|Ô•øÓø¯²® Auß £õuP©õÚ PõµoPøÍ²® öuÎÄ£kzxP.

177. Distinguish between systematic and unsystematic risk.

•øÓ¯õÚ Chº£õkPÒ •øÓ¯ØÓ Chº£õkPÒ CÁØøÓ ÷ÁÖ£kzxP.

178. Write a note on Markowitz model of portfolio analysis.

©õº÷PõÂm]ß C»õPõ •u½k £S¨£õ´Ä £ØÔ SÔ¨¦ ÁøµP.

179. List out the logic steps in portfolio Management process.

C»õUPõ •u½mk ÷©»õsø©°ß ÁÈ ö|Ô•øÓPøÍ öuõSzx ÁøµP.

———————
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

180. Define ‘financial management’. Explain the significance of finance function in the corporate world.

""{v ÷©»õsø©' Áøµ¯Ö. {Ö© E»QÀ {v ÷©»õsø©¨ £o°ß •UQ¯zxÁzøu ÂÍUSP.

181. Explain the principles of profit maximisation and wealth maximisation in financial management.

{v ÷©»õsø©°À AvP£m\ »õ£U SÔU÷PõÒPøÍ²®, AvP£m\ ö\õzx SÔU÷PõøÍ²® ÂÍUSP.

182. Explain Net Income and Net operative income theories in capital structure.

‰»uÚ Aø©¨¤À {Pµ Á¸Áõ´ ©ØÖ® {Pµ |øh•øÓ Á¸Áõ´ ÷Põm£õkPøÍ ÂÁ›.

183. Between equity shares and debentures, which is profitable for raising additional long term capital for a manufacturing company and why?

J¸ EØ£zv {Ö©zvß }shPõ» TkuÀ ‰»uÚ {v vµmh¼À £[S £zvµ[PÒ (\õuõµn) ©ØÖ® Phß £zvµ[PÒ öÁÎ°ku¼À Gx »õ£Pµ©õÚx? Hß?

184. Explain the various factors which influence the dividend decision of a firm.

J¸ {ÖÁÚzvÀ £[Põuõ¯ •iøÁ {ºn¯® ö\´²® £À÷ÁÖ PõµoPøÍ¨ £ØÔ ÂÍUSP.

185. A company Ltd. issues Rs. 1,00,000, 10% debentures at a premium of 10%. The cost of floatation is 3%. The tax rate is 50%. Find out the cost of debt capital.

A GÝ® {Ö©® 10% Phß £zvµ[PøÍ ¹. 1,00,000US 10% •øÚ©zvÀ öÁÎ°kQÓx. öÁÎ°k® ö\»Ä 3%, Á›ÂQu® 50% GÛÀ Phß ‰»uÚzvß AhUPzvøÚU PõsP.

186. A trading firm gives the following information :

(a)
The total estimated sales in a year will be 
Rs. 12,00,000.

(b)
Expenses are estimated as fixed expenses of 
Rs. 2,000, per month plus variable expenses equal to five per cent of the turn over.

(c)
It expects to fix a sales price for each product which will be 25% in excess of his cost of purchase. Calculate the profit of the year.

J¸ Â¯õ£õµ {Ö©zvß uPÁÀPÒ ¤ßÁ¸©õÖ :

(A)
J¸ Bsiß Gvº£õºUP¨£k® ÂØ£øÚ ¹. 12,00,000

(B)
Gvº£õºUP¨£k® {ø»¯õÚ ©õuõ¢vµ ö\»ÄPÒ 
¹. 2,000 ©ØÖ® ©õÖ® ö\»ÂÚ[PÒ ÂØ£øÚ°À 5%

(C)
AhUPÂø»°À Gvº£õºUP¨£k® »õ£ ÂQu® 25% A¢u {Ö©zvß Bsk »õ£® GÆÁÍÄ GÚU PnUQhÄ®.

187. (a)
Calculate economic order quantity from the following :

	Annual usage
	10,000 units

	Cost of placing one order
	Rs. 50

	Cost of material per unit
	Rs. 40

	Annual carrying cost of inventory
	10% of inventory value


(b)
Calculate stock turnover ratio :

	Cost of goods sold
	Rs. 6,00,000

	Opening stock
	Rs. 70,000

	Closing stock
	Rs. 50,000


(A)
]UPÚ Bøn \µUS AÍøÁ PnUQkP.


Bsk E£÷¯õP® 10,000 A»SPÒ


Bøn°h ö\»Ä JßÖUS ¹. 50


ö£õ¸Ò Âø» JßÖUS ¹. 40


_ø©US HØ£k® Bsk ö\»Ä ö£õ¸Ò Âø»°À 10%

(B)
\µUS _ÇØ] ÂQuzøu Psk¤i.

	ÂØ£øÚ AhUP®
	¹. 6,00,000

	Bµ®£ \µUS
	¹. 70,000

	CÖv \µUS
	¹. 50,000


PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

188. Prepare an estimate of working capital requirement from the following information of a trading concern :

(a)
Project annual sales – 1,00,000 units

(b)
Selling price – Rs. 8 per unit

(c)
% of net profit on sales  – 25%

(d)
Average credit period allowed to customers – 
8 weeks

(e)
Average credit period allowed by suppliers – 
4 weeks

(f)
Average stock holding interms of sales requirement – 12 weeks

(g)
Allow 10% for contingencies.

J¸ {ÖÁÚzvß |øh•øÓ ‰»uÚzøu RÌöPõkUP¨£mkÒÍ uPÁ¼ß Ai¨£øh°À PnUQhÄ®.

(A)
Gvº£õºUP¨£k® Á¸h ÂØ£øÚ 1,00,000 (A»SPÒ)

(B)
ÂØ£øÚ Âø» ¹. 8 JßÖUS

(C)
{Pµ »õ£ \uÂQu® ÂØ£øÚ°À 25%

(D)
PhÚõÎPÐUS ÁÇ[P¨£k® \µõ\› uÁøn |õmPÒ 
8 Áõµ[PÒ.

(E)
PhÜ¢÷uõºPÒ ÁÇ[S® \µõ\› uÁøn |õmPÒ 
4 Áõµ[PÒ

(F)
ÂØ£øÚUS •ß \µõ\› \µUS øP°¸¨¦ |õmPÒ 
12 Áõµ[PÒ

(G)
10% Gvº£õµõu ö\»ÂÚ[PÐUS AÝ©vUPÄ®.

189. A company’s capital structure consists of the following :

	
	Rs.

	Equity shares of Rs. 100 each
	20,00,000

	Retained earnings
	10,00,000

	9% preference shares
	12,00,000

	7% debentures
	8,00,000

	Total
	50,00,000


The company earns 12% on its capital. The Income-tax rate is 50%. The company requires a sum of Rs. 25,00,000 to finance its expansion programme for which the following alternatives are available to it :

(a)
Issue of 20,000 equity shares at a premium of Rs. 25 per share

(b)
Issue of 10% preference shares

(c)
Issue of 8% debentures.


It is estimated that the P/E ratios in the cases of equity, preference and debenture financing would be 21.4, 17 and 15.7 respectively.


Which of the following alternatives would you recommend and why?

J¸ {Ö©zvß ‰»uÚ Aø©¨¦ RÌUPshÁõÖ EÒÍx.

	
	¹.

	¹. 100 ©v¨¦ÒÍ ÷|ºø©¨ £[SPÒ
	20,00,000

	»õ£ C¸¨¦
	10,00,000

	9% •ßÝ›ø© £[SPÒ
	12,00,000

	7% Phß £zvµ[PÒ
	8,00,000

	ö©õzu®
	50,00,000


A¢{Ö©® Auß •u½miÀ 12% »õ£® \®£õvUQÓx. Á¸©õÚ Á› 50%. A¢{Ö©® Auß Â›ÁõUPz ÷uøÁUS 
¹. 25,00,000 ‰»uÚzøu vµmh RÌUPsh ©õØÖ ÁÈPÒ EÒÍÚ.

(A)
20,000 ÷|ºø©¨ £[SPøÍ ¹. 25 £[S JßÖUS •øÚ©zvÀ öÁÎ°kuÀ

(B)
10% •ßÝ›ø© £[SPÒ öÁÎ°kuÀ

(C)
8% Phß £zvµ[PÒ öÁÎ°kuÀ


÷©¾® Âø» Á¸Áõ´ (P/E) ÂQu® •øÓ÷¯ ÷|ºø©¨ £[S, •ßÝ›ø©¨ £[S ©ØÖ® Phß £zvµzvØS •øÓ÷¯ 21.4, 17 ©ØÖ® 15.7 GÚ Gvº£õºUP¨£kQÓx.


÷©÷» EÒÍ ‰»uÚ {v vµmhÀ ÁÈPÎÀ } GuøÚ £›¢xøµ ö\´Áõ´? Hß?

190. From the following forecast of income and expenditure, prepare a cash budget for the months January to April, 2003.

	Year
	Months
	Sales 
(credit)
	Purchases
(credit)
	Wages
	Manufacturing
expenses
	Administration
expenses

	
	
	Rs.
	Rs.
	Rs.
	Rs.
	Rs.

	2002
	Nov.
	30,000
	15,000
	3,000
	1,150
	1,060

	
	Dec.
	35,000
	20,000
	3,200
	1,225
	1,040

	2003
	Jan.
	25,000
	15,000
	2,500
	990
	1,100

	
	Feb.
	30,000
	20,000
	3,000
	1,050
	1,150

	
	Mar.
	35,000
	22,500
	2,400
	1,100
	1,220

	
	Apr.
	40,000
	25,000
	2,600
	1,200
	1,180


Additional information is as follows :

(a)
The customers are allowed a credit period of 
2 months

(b)
A dividend of Rs. 10,000 is payable in April

(c)
Capital expenditure to be incurred : Plant purchased on 15th January for Rs. 5,000 ; a building has been purchased on 1st March and the payments are to be made in monthly instalments of Rs. 3,000 each.

(d)
The creditors are allowing a credit period of 
2 months

(e)
Wages are paid on 1st of the next month

(f)
Lag in payment of other expenses is one month

(g)
Balance of cash in hand on 1st January 2003 is 
Rs. 15,000.

¤ßÁ¸® ÁµÄ ö\»Ä uPÁÀPÎß Ai¨£øh°À áÚÁ› •uÀ H¨µÀ 2003 ©õu[PÐUPõÚ öµõUP ÁµÄ&ö\»Ä vmhzvøÚ u¯õº ö\´P.

	Á¸h®
	©õu®
	ÂØ£øÚ
(Phß)
	öPõÒ•uÀ
(Phß)
	T¼
	EØ£zva
ö\»Ä
	{ºÁõPa
ö\»Ä

	
	
	¹.
	¹.
	¹.
	¹.
	¹.

	2002
	|Á®£º
	30,000
	15,000
	3,000
	1,150
	1,060

	
	i\®£º
	35,000
	20,000
	3,200
	1,225
	1,040

	2003
	áÚÁ›
	25,000
	15,000
	2,500
	990
	1,100

	
	¤¨µÁ›
	30,000
	20,000
	3,000
	1,050
	1,150

	
	©õºa
	35,000
	22,500
	2,400
	1,100
	1,220

	
	H¨µÀ
	40,000
	25,000
	2,600
	1,200
	1,180


TkuÀ uPÁÀPÒ :

(A)
PhÚõÎPÐUS ÁÇ[P¨£k® uÁøn 2 ©õu[PÒ 

(B)
¹. 10,000 £[Põuõ¯©õP H¨µÀ ©õu® uµ ÷Ási¯x

(C)
‰»uÚ ö\»ÂÚ[PÒ ö\´¯ EÒÍx : áÚÁ› 15À C¯¢vµ® Áõ[Q¯x ¹. 5,000, J¸ Pmih® Áõ[P¨£mhx ©õºa 1À, AuØS ©õuz uÁøn¯õP ¹. 3,000 ö\¾zu EÒÍx.

(D)
PhÜ¢÷uõº ÁÇ[Q²ÒÍ uÁøn  2 ©õu[PÒ

(E)
T¼ Akzu ©õu 1À ÁÇ[P¨£h ÷Ásk®

(F)
©ØÓ ö\»ÂÚ[PÒ J¸ ©õu uÁøn°À ö\¾zu ÷Ási¯x

(G)
2003, áÚÁ› 1À öµõUP øP°¸¨¦ ¹. 15,000.

191. The following relating to inventory costs have been established for Alfa Ltd.

(a)
Requirement for the year are 75,000 units

(b)
Usage per month 6,250 units

(c)
Purchase price per unit Rs. 1.50 per unit

(d)
Carrying cost is 20% of the purchase price of goods

(e)
Cost of placing an order Rs. 18

(f)
It takes 45 days to receive delivery from the date of the order and a safety steels of 3,250 units is desired.


You are required to determine :


(i)
the Economic Order Quantity 


(ii)
the frequency of orders


(iii)
the order point.

BÀ£õ {Ö©zvß \µUS ÷©»õsø©a ö\»ÄPÒ R÷Ç öPõkUP¨£mkÒÍÚ.

(A)
Á¸hzvØS ÷uøÁ¯õÚ A»SPÒ 75,000

(B)
©õuõ¢vµ ÷uøÁ A»SPÒ 6,250

(C)
Kº A»S \µUQß Âø» ¹. 1.50

(<D)
Aa\µUQß ÷©»õsø©a ö\»Ä Áõ[Q¯ Âø»°À 20%

(E)
Kº BønUPõÚ ö\»Ä ¹. 18

(F)
Bøn°mh |õÎ¼¸¢x \µUS ö£Ó GkzxU öPõÒÐ® |õmPÒ 45, ©ØÖ® Põ¨¦ \µUQ¸¨¤ß AÍÄ 3,250 A»SPÒ.


RÌUPshøÁPøÍ Psk¤i :


(i)
EOQ&°ß AÍÄ GßÚ?


(ii)
Á¸h® GzuøÚ BønPÒ Ch¨£k®?

(iii)
G¢ua \µUQ¸¨¤À, ©Ö Bøn ¤ÓUP¨£k®?

192. Explain the functional areas of financial management.

{v ÷©»õsø©°ß £oPøÍ ÂÍUSP.

193. State the determinants of Dividend Policy.

£[Põuõ¯ öPõÒøPø¯ {ºn°US® PõµoPÒ GøÁ?

194. State the factors which determine the working capital requirements.

|øh•øÓ •uø» {ºn¯® ö\´²® PõµoPøÍ ÂÍUSP.

———————
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Answer any FIVE questions.

195. What is Risk–Return Trade off? Explain.

Chº – DmhÀ ÁoP Cøh{ø» GßÓõÀ GßÚ? ÂÍUSP.

196. State the role and purpose of convertible debenture as a source of finance.

{v ÷uõØÖ Áõ°ÀPÎÀ ©õØÓzuS PhÜmk¨ £zvµ[PÎß £o ©ØÖ® £[QøÚ öu›ÂUP.

197. What is working capital? Explain the various types of working capital.

|øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õP |øh•øÓ ‰»uÚzøu ÂÍUS.

198. What is capital structure? Explain the determinants of capital structure.

‰»uÚ Pmhø©¨¦ GßÓõÀ GßÚ? ‰»uÚ Pmhø©¨ø£ {ºn°US® PõµoPøÍ ÂÍUSP.

199. What does ‘cost of equity’ mean? Explain.

£[Sö£Ö Âø» GßÓõÀ GßÚ? ÂÍUSP.

200. What is meant by marginal cost of capital? Explain.

•u¼ß ©õÖ® AhUPÂø» Gß£uß ö£õ¸Ò ¯õx? ÂÍUSP.

201. Analyse the economics of leasing.

SzuøP°ß |ßø© ÷uøÁPøÍ Bµõ´P.

202. Analyse the factors affecting “ Dividend Decision”.

“£[Põuõ¯ •iÂøÚ” {ºn°US® PõµoPøÍ Bµõ´P.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

203. Explain the objectives and scopes of financial management.

{v ÷©»õsø©°ß SÔU÷PõÒPÒ ©ØÖ® ÷|õUP[PøÍ ÂÍUSP.

204. What are long term capital resources? Explain any two of them. 

}shPõ» ‰»uÚ ‰»[PÒ GßÓõÀ GßÚ? H÷uÝ® CµsiøÚ ÂÍUSP.

205. Critically examine merits and demerits of the 
M.M Theory of capital structure.

•uÀ Pmhø©¨¤ß M.M. ÷uØÓzvß {øÓSøÓPøÍ ÂÍUQ TÖP.

206. Discuss in detail the concept of overall cost of capital with the help of an illustration.

•uÀ ö©õzu AhUPÂø» GßÓ ö\õØ£zvß ö£õ¸øÍ J¸ Euõµnzxhß ÂÍUSP.

207. What is meant by cost of capital? Explain any two methods of compute cost of capital.

‰»uÚ ö£Ö{ø» GßÓõÀ GßÚ? ‰»uÚ ö£ÖÂø»°ß H÷uÝ® C¸ •øÓPøÍ ÂÍUSP.

208. Analyse the significance of leasing in financial management.

{v ÷©»õsø©°À SzuøP°ß AÁ]¯z ußø©PøÍ Bµõ´P.

209. What is Leverage? Explain the degree of operating leverage and types of leverages.

“{v ö|®¦” GßÓõÀ GßÚ? {vö|®¦ AÍÄ ©ØÖ® ÁøPPøÍ ÂÍUSP.

———————
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Answer any FIVE questions.

210. What is cost center? What are the different types of cost center?

AhUP Ch® GßÓõÀ GßÚ? AvÀ GzuøÚ ÁøPPÒ EÒÍÚ?

211. What factors determine Stock levels?

\µUQ¸¨¦ AÍøÁ wº©õÛUS® PõµoPÒ ¯õøÁ?

212. From the following, calculate the earnings under ‘Halsey’ and ‘Rowan Plan’.

Standard time : 10 hours

Time taken : 9 hours

Time rate : Re. 1 per hour

¤ßÁ¸® Â£µ[PÎ¼¸¢x "PõÀ]' "÷µõÁß' vmh¨£i Dmi¯ öuõøP°øÚU PõsP.

|ºn°UP¨£mh ÷{µ® : 10 ©o

GkzxU öPõsh ÷{µ® : 9 ©o

Fv¯ ÂQu® : ©o JßÖUS ¹. 1

213. What do you meant by under absorption and over absorption of overheads? How are they treated in cost accounts?

÷©Øö\»ÄPÒ SøÓÁõP «mP¨£kuÀ, AvP©õP «mP¨£kuÀ GßÓõÀ GßÚ? AøÁPÒ AhUPÂ¯À PnUQ¯¼À GÆÁõÖ ÁøP ö\´¯¨£kQÓx?

214. In a factory details of a job are as follows :

Materials Rs. 4,000.

Wages :


Department A — 60 hours at Rs. 3 per hour


Department B — 40 hours at Rs. 2 per hour


Department C — 20 hours at Rs. 5 per hour

Estimated overheads.

Variable overhead :


Department A — Rs. 5,000 for 5,000 labour hours


Department B — Rs. 3,000 for 1,500 labour hours


Department C — Rs. 2,000 for 500 labour hours.

Fixed overhead are estimated at Rs. 20,000 for 10,000 working hours.

Calculate the price of the job adding 25% profits to cost 
of the job.

J¸ öuõÈØ\õø»°À J¸ £oUPõÚ ÂÁµ[PÒ ¤ßÁ¸©õÖ:

Pa\õ ö£õ¸mPÒ – ¹. 4,000.

T¼ :


xøÓ "A' —©oUS ¹. 3 Ãu® 60 ©o


xøÓ "B' —©oUS ¹. 2 Ãu® 40 ©o


xøÓ "C' — ©oUS ¹. 5 Ãu® 20 ©o

Ez÷u\ ÷©Øö\»ÄPÒ.

©õÖ® ö\»ÄPÒ :


xøÓ "A' — 5,000 EøÇ¨¦ ©oPÐUS ¹. 5,000


xøÓ "B' — 1,500 EøÇ¨¦ ©oPÐUS ¹. 3,000


xøÓ "C' — 500 EøÇ¨¦ ©oPÐUS ¹. 2,000.

©õÓõu ÷©Øö\»ÄPÒ 10,000 ©oPÐUS ¹. 20,000 GßÖ Ez÷u]UP¨£kQÓx.

£oUPõÚ AhUPÂø»²hß 25% »õ£® ÷\ºzx £o°ß Âø»ø¯U PnUQkP.

215. What are the objects of Cost Accounting?

AhUPÂø» PnUQß ÷{õUP[PÒ ¯õøÁ?

216. What is meant by ‘‘Cost Audit’’ and what are its objectives?

AhUPÂø» uoUøP GßÓõÀ GßÚ? Auß ÷{õUP[PÒ ¯õøÁ?

217. Explain the functional classification of cost.

AhUPÂø»°ß ö\¯À ÁøP¨£õmiøÚ ÂÍUPÄ®.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

218. The particulars of a factory for the year 2005 are given below :

	
	Rs.

	Raw materials
	3,00,000

	Direct wages
	2,50,000

	Works overheads
	1,50,000

	Office overheads
	1,68,000

	Selling overheads
	1,12,000

	Distribution overheads
	70,000

	Net profit
	1,10,000


In 2006 the expenses incurred on the execution of a work order :

	
	Rs.

	Raw materials
	12,000

	Wages
	7,000


Assuming that in 2006 works overhead went up 20%, distribution overhead went down by 10% and selling and office overhead went up by 12
[image: image5.wmf]2
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%, at what price should the product be quoted so as to earn the same rate of profit as in 2005 on the selling price?

2005&® BsiØPõÚ J¸ öuõÈØ\õø»°ß uPÁÀPÒ RÌUPshÁõÖ ö£Ó¨£mkÒÍÚ.

	
	¹.

	­»¨ö£õ¸Ò
	3,00,000

	÷{µiU T¼
	2,50,000

	öuõÈØ\õø» ÷©Øö\»ÄPÒ
	1,50,000

	A¾Á»P ÷©Øö\»ÄPÒ
	1,68,000

	ÂØ£øÚ ÷©Øö\»ÄPÒ
	1,12,000

	ÁÇ[PÀ ÷©Øö\»ÄPÒ
	70,000

	|Pµ »õ£®
	1,10,000


2006&À J¸ £o Bøn |øÓ÷ÁØÓ¨£mhvÀ BÚ ö\»ÄPÒ :

­»¨ö£õ¸Ò — ¹. 12,000

T¼ — ¹. 7,000

2006&À öuõÈØ\õø» ÷©Øö\»ÄPÒ 20% AvP¶¨£uõPÄ® ÁÇ[PÀ ÷©Øö\»ÄPÒ 10% SøÓ¢v¸¨£uõPÄ® ÂØ£øÚ ©ØÖ® A¾Á»P ÷©Øö\»ÄPÒ 12
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% AvP¶¨£uõPÄ® FQzx 2005&À ÂØ£øÚ Âø»°À ö£Ó¨£mh A÷u C»õ£ ÂQuzøu÷¯ ö£Ö® ö£õ¸mk, Aaö\´ ö£õ¸Ò GßÚ Âø»US ÂØP¨£h ÷Ásk®?

219. Describe the various methods of pricing issues of materials.

£À÷ÁÖ \µUS öÁÎ°k Âø»PøÍ ÂÁ¶.

220. What do you understand by Labour Turnover? Explain its effect on the production costs.

öuõÈ»õÍº GsoUøP ©õØÓ® GßÓõÀ GßÚ? EØ£zva ö\»ÄPÎÀ AuÝøh¯ ÂøÍÄPøÍ ÂÁ¶.

221. A manufacturing concern has 3 Production Departments and 2 Service Departments. In March 2005, the Departmental Expenses were :

	
	Production
	Service

	
	A
	B
	C
	X
	Y

	(Rs.)
	6,300
	7,400
	2,800
	4,500
	2,000


The Service Department Expenses are charged on a percentage basis as given below :

	
	A
	B
	C
	X
	Y

	Expenses of X :
	20%
	40%
	30%
	–
	10%

	Expenses of Y :
	40%
	20%
	20%
	20%
	–


Prepare a statement showing the apportionment of Service Departments Expenses to Production Departments on the basis of Repeated Distribution Method.

J¸ EØ£zv |ÖÁÚzvÀ ­ßÖ EØ£zv xøÓPÐ® Cµsk ÷\øÁ xøÓPÐ® EÒÍÚ. ©õºa 2005&À JÆöÁõ¸ xøÓUS® RÌUPshÁõÖ ö\»ÄPÒ B°Ú.

	
	EØ£zv xøÓ
	÷\øÁ xøÓ

	
	A
	B
	C
	X
	Y

	(¹.)
	6,300
	7,400
	2,800
	4,500
	2,000


÷\øÁz xøÓ°ß ö\»ÄPÒ \uÃu Ai¨£øh°À RÌUPshÁõÖ £Qº¢uÎUP¨£kQßÓÚ.

	
	A
	B
	C
	X
	Y

	X xøÓ°ß ö\»Ä :
	20%
	40%
	30%
	–
	10%

	Y xøÓ°ß ö\»Ä :
	40%
	20%
	20%
	20%
	–


öuõhº¢x £Qº¢uÎUS® ¬øÓ°ß RÌ÷\øÁz xøÓ°ß ö\»ÄPøÍ EØ£zv xøÓPÐUS £Qº¢uÎUS® AÔUøP°øÚ u¯õº ö\´P.

222. Mr. Kavi undertook several large contracts and his ledger contained there for a separate account for each contract. 
On 31st March 2005 the account of contract No. 3210 showed the following amounts as expended thereon :

	
	Rs.

	Materials directly purchased 
	2,00,000

	Materials issued from stores
	40,000

	Wages
	2,04,000

	Direct expenses
	14,000

	Plant purchased
	1,95,000

	Proportionate establishment charges
	50,000


The contract price was Rs. 16,00,000. Upto 31st 
March 2005 Rs. 6,50,000 had been received in cash which represented 80% of work certified. The materials on site 
Rs. 25,000 were unconsumed. The contract plant was to be depreciated for Rs. 28,000. Prepare Contract Account showing what profits thereon have been earned to date.

v¸. PÂ Gß£Áº £À÷ÁÖ ÷£µÍÄ J¨£¢u[PøÍ HØÖU öPõshõº. JÆöÁõ¸ J¨£¢uzvØS® uÛzuÛ¯õPU PnUSPÒ ÷£÷µmiÀ Ch® ö£ØÓÚ. 2005 ©õºa 31 AßÖ Gs 3210 GßÓ J¨£¢uzvß «uõÚ ö\»ÄPÒ R÷Ç öPõkUP¨£mkÒÍx.

	
	¹.

	ö£õ¸Ò ÷{µiU öPõÒ¬uÀ ö\´ux
	2,00,000

	C¸¨¤¼¸¢x öPõkzu ö£õ¸ÒPÒ
	40,000

	T¼
	2,04,000

	÷{µia ö\»ÄPÒ
	14,000

	uÍÁõh® öPõÒ¬uÀ
	1,95,000

	|¸ÁõP ÂQuõ\õµa ö\»ÄPÒ
	50,000


J¨£¢u ©v¨¦ ¹. 16,00,000 2005 ©õºa 31 Áøµ öµõUP©õP¨ ö£ØÓx ¹. 6,50,000. Cx \õßÓÎUP¨ £mh ¬izu ÷Áø»°À 80%. öuõÈ¼hzvÀ ~Pµõu ö£õ¸Îß ©v¨¦ ¹. 25,000. J¨£¢u uÍÁõhzvß «x ¹. 28,000. ÷u´©õÚ©õS® A¢uõÎÀ ö£Ó¨£mh C»õ£zvøÚU Põmk® PnUQøÚz u¯õ›UPÄ®.

223. Explain the provision of Indian Companies Act, 1956 with respect to appointment, rights and responsibilities of a cost auditor.

C¢v¯ |¸©[PÒ \mh® 1956&ß £i J¸ AhUPÂø» uoUøP¯¶ß |¯©Ú®, E¶ø©PÒ, ©ØÖ® ö£õÖ¨¦PÒ öuõhº£õÚ Âv¬øÓPøÍ ÂÁ¶.

224. A product passes through three processes. The following information is available from the cost records :

	
	Process A
	Process B
	Process C

	
	Rs.
	Rs.
	Rs.

	Material consumed
	6,000
	4,000
	2,000

	Direct labour
	8,000
	6,000
	3,000

	Overheads
	1,000
	1,000
	1,500


2,000 units have been issued to Process – A at a cost of Rs. 10,000.

The actual output and normal loss are :

	
	Output
	Normal loss
	Value of scrap per unit

	
	(Units)
	(as a % of input)
	Rs.

	Process A
	1,950
	2%
	1.00

	Process B
	1,880
	10%
	1.50

	Process C
	1,600
	10%
	2.00


Prepare Process Accounts.

J¸ ö£õ¸Ò ­ßÖ ÁÈPøÍ Ph¢x ö\ÀQÓx. ¤ßÁ¸® ö\»Ä AhUP Hmi¼¸¢x GkUP¨£mhÚ.

	
	ÁÈ¬øÓ A
	ÁÈ¬øÓ B
	ÁÈ¬øÓ C

	
	¹.
	¹.
	¹.

	ö£õ¸Ò ~PºÄ
	6,000
	4,000
	2,000

	÷{µiU T¼
	8,000
	6,000
	3,000

	ö\¯»ø©¨¦ ö\»Ä
	1,000
	1,000
	1,500


ÁÈ¬øÓ "A'&À 2000 A»SPÒ ¹. 10,000 AhUPzvÀ AÝ¨£¨£mhx. {h¨¦ EØ£zv ©ØÖ® \õuõµn {mh® 
¤ßÁ¸©õÖ :

	
	EØ£zv
	\õuõµn
	PÈÄ
©v¨¦ ¹.

	
	(A»SPÒ)
	({mh® (%))
	(1 A»SUS)

	ÁÈ¬øÓ A
	1,950
	2%
	1.00

	ÁÈ¬øÓ B
	1,880
	10%
	1.50

	ÁÈ¬øÓ C
	1,600
	10%
	2.00


ÁÈ¬øÓ PnUS ©ØÖ® A\õuõµn »õ£/{mh PnUøP u¯õ¶UPÄ®.

———————
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PART A — (5 × 8 = 40 marks)

Answer any FIVE questions.

225. Explain the advantages of cost accounting.

AhUPÂø»U PnUQ¯¼ß |ßø©PøÍ ÂÍUSP.

226. Write a note on ABC analysis.

ABC £S¨£õ´Ä £ØÔ SÔ¨¦ ÁøµP.

227. Calculate cost per unit by preparing a cost sheet :

	
	Rs.

	Opening stock :
	

	  Materials
	2,00,000

	  Work in progress
	60,000

	  Finished goods
	 5,000

	Closing stock :
	

	  Material
	1,80,000

	  Work in progress
	50,000

	  Finished goods
	15,000

	
	Rs.

	Material purchased
	5,00,000

	Direct wages
	1,50,000

	Manufacturing expenses
	1,00,000

	Sales
	8,00,000

	Selling and distribution expenses
	20,000

	No. of units produced – 10,000.
	


AhUPÂø»¨ £mi¯À u¯õ›zx, J¸ A»Qß AhUPÂø» Psk¤i :

	
	¹.

	Bµ®£ C¸¨¦ :
	

	  ‰»¨ö£õ¸Ò
	2,00,000

	  £o •ß÷ÚØÓzvÀ 
	60,000

	  •ØÖ¨ö£ØÓ ö£õ¸Ò
	 5,000

	CÖv C¸¨¦ :
	

	  ‰»¨ö£õ¸Ò
	1,80,000

	  £o •ß÷ÚØÓzvÀ 
	50,000

	  •ØÖ¨ö£ØÓ ö£õ¸Ò
	15,000

	‰»¨ö£õ¸Ò öPõÒ•uÀ
	5,00,000

	÷|µi T¼PÒ
	1,50,000

	u¯õ›¨¦a ö\»ÄPÒ
	1,00,000

	ÂØ£øÚ
	8,00,000

	ÂØ£øÚ ©ØÖ® £QºÄa ö\»ÄPÒ
	20,000

	EØ£zv ö\´u ö£õ¸Ò A»SPÒ – 10,000


228. Two items X and Y are used as follows :


Normal usage – 50 units per week each


Minimum usage – 25 units per week each


Maximum usage – 75 units per week each


Economic order quantity : X – 300 units, Y – 500 units


Re-order period : X – 4 to 6 weeks, Y – 2 to 4 weeks.


Calculate for each item :


(a)
Re-order level.


(b)
Minimum level.


(c)
Maximum level.


(d)
Average level.

Cµsk ö£õ¸mPÒ X  ©ØÖ® Y RÌUPshÁõÖ £¯ß£kzu¨ £kQÓx :

C¯À¦ £¯ß£õk – 50 A»SPÒ JÆöÁõßÖ® J¸ ÁõµzvØS

SøÓ¢u AÍÄ £¯ß£õk – 25 A»SPÒ JÆöÁõßÖ® J¸ ÁõµzvØS

Ea\ AÍÄ £¯ß£õk – 75 A»SPÒ JÆöÁõßÖ® J¸ ÁõµzvØS

]UPÚ Bøn AÍÄ : X  – 300 A»SPÒ, Y – 500 A»SPÒ

©Ö BønUPõ»® : X  – 4 •uÀ 6 Áõµ[PÒ, Y – 2 •uÀ
 4 Áõµ[PÒ

JÆöÁõ¸ ö£õ¸ÐUS® PnUQh ÷Ási¯øÁ :

(A)
©Ö Bøn AÍÄ.

(B)
SøÓ¢u AÍÄ {ø».

(C)
Ea\ AÍÄ {ø».

(D)
\µõ\› {ø».

229. Standard time = 20 hours, 


Rate per hour = Re. 1 plus a D.A. of 30 paise per hour worked


Actual time taken = 15 hours'


Calculate the earnings under :


(a)
Time wage system.


(b)
Piece wage system.


(c)
Halsey plan.


(d)
Rowan scheme.

{ºn°UP¨£mh Põ»® : 20 ©o ÷|µ® ©o JßÔØS T¼ ¹. 1&® APÂø»¨£i 30 ø£\õÄ®,

Gkzx öPõsh Põ»® = 15 ©o ÷|µ®

¤ßÁ¸ÁÚÁØøÓU PnUQkP :

(A)
©o ÷|µ ÂQu®.

(B)
A»S Ãu ÂQu®.

(C)
íõÀ] vmh®.

(D)
÷µõÁõß vmh®.
230. The following was the expenditure on a contract for 
Rs. 12,00,000 commenced in January :


Materials Rs. 2,40,000, Wages Rs. 3,28,000, Plant 
Rs. 40,000, Overheads Rs. 17,200 cash received on account of the contract upto 31st December was Rs. 4,80,000 being 80% of the work certified. The value of materials in hand was 
Rs. 20,000, plant had undergone 20% depreciation. Prepare contract account.

áÚÁ›°À xÁ[P¨£mh ¹. 12,00,000 J¨£¢uzvØPõÚ ö\»ÄPÒ •øÓ÷¯ ¤ßÁ¸©õÖ :

‰»¨ö£õ¸mPÒ ¹. 2,40,000, T¼ ¹. 3,28,000, ö£õÔ 
¹. 40,000, ÷©Øö\»ÄPÒ ¹. 17,200. i\®£º 31 Áøµ°À ö£ØÓ öµõUP® ¹. 4,80,000 BÚx \õßÓÎUP¨£mh ÷Áø»°À 80% BS®. øP°À EÒÍ ‰»¨ö£õ¸mPÒ ¹. 20,000 ö£õÔ «x 20% ÷u´©õÚ® PnUQh¨£h ÷Ásk®. J¨£¢uU PnUøP u¯õº ö\´P.

231. Prepare a cost sheet and profit and loss account from the following information and reconcile :


Materials consumed – Rs. 36,000, Wages Rs. 32,400, Works overhead charges – Rs. 27,000, Office overhead charges – Rs. 28,800, Selling overhead – Rs. 7,200, Sales – Rs. 1,80,000. In cost records, works overhead charges are recovered at 100% on direct wages and office overhead charges are recovered at 25% on works cost selling expenses are charged at 10% on sales.


In financial records debenture interest paid Rs. 9,000 preliminary expenses written off Rs. 5,400.

RÌPõq® uPÁÀPÎ¼¸¢x AhUPÂø» £mi¯À ©ØÖ® C»õ£ |mhU PnUøP u¯õº ö\´x \›UPmkP :

£¯ß£kzv¯ Pa\õ¨ ö£õ¸ÒPÒ ¹. 36,000, T¼ – 
¹. 32,400, Bø» ÷©Øö\»ÄPÒ – ¹. 27,000, A¾Á»P ÷©Øö\»ÄPÒ – ¹. 28,800, ÂØ£øÚ ÷©Øö\»ÄPÒ – ¹. 7,200, ÂØ£øÚ – ¹. 1,80,000. AhUPÂø» £v÷ÁkPÎÀ Bø» ÷©Øö\»ÄPÒ T¼°À 100 \uÃu•® A¾Á»P ÷©Øö\»ÄPÒ Bø» AhUP Âø»°À 25 \uÃu•®, ÂØ£øÚ ÷©Øö\»ÄPÒ ÂØ£øÚ°À 10 \uÃu•® «mP¨£mhÚ.

{v{ø» HkPÎÀ £vÄ ö\´¯¨£mh PhÜmk £zvµ «uõÚ Ámi ö\¾zv¯x ¹. 9,000. ÷£õUöPÊv¯ öuõhUPa ö\»ÄPÒ 
¹. 5,400.

232. Write a note on :


(a)
Wastage.



(b)
Scrap.

]Ö SÔ¨¦ ÁøµP :

(A)
PÈÄ¨ ö£õ¸mPÒ.

(A)
PÈ¨¦¨ ö£õ¸mPÒ.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

233. Discuss the characteristics of a good costing system.

J¸ |À» AhUPÂø» PnUQ¯¼ß Sn|»ßPøÍ £ØÔ ÂÁ›UP.

234. Prepare a stores ledger from the following transactions under the (a) simple average price method and (b) weighted average price method.

	January   1
	Received 1000 units at Rs. 1.00 per unit

	10
	Received 260 units at Rs. 1.05 per unit

	20
	Issued 700 units

	February   4
	Received 400 units at Rs. 1.15 per unit

	21
	Received 300 units at Rs. 1.25 per unit

	March   16
	Issued 620 units

	April   12
	Issued 240 units

	20
	Received 500 units at Rs. 1.10 per unit

	25
	Issued 380 units.


RÌPsh uPÁÀPÎ¼¸¢x, (A) \õuõµn Tmk \µõ\› Âø» ©ØÖ® (B) {øÓ°mh Tmk \µõ\› Âø» •øÓPÎÀ ÷£÷µmk PnUQøÚ u¯õº ö\´P.

	áÚÁ›   1
	¹. 1 Ãu® Áõ[Q¯x 1000 A»SPÒ

	10
	¹. 1.05 Ãu® Áõ[Q¯x 260 A»SPÒ

	20
	ÁÇ[Q¯x 700 A»SPÒ

	¤¨µÁ›   4
	¹. 1.15 Ãu® Áõ[Q¯x 400 A»SPÒ

	21
	¹. 1.25 Ãu® Áõ[Q¯x 300 A»SPÒ

	©õºa   16
	ÁÇ[Q¯x 620 A»SPÒ

	H¨µÀ   12
	ÁÇ[Q¯x 240 A»SPÒ

	20
	¹. 1.10 Ãu® Áõ[Q¯x 500 A»SPÒ

	25
	ÁÇ[Q¯x 380 A»SPÒ.


235. Varun company has five departments E, A, K, V are producing departments and R is a service department. The actual costs for a period are as follows : Repairs Rs. 2,000; Rent Rs. 2,500; Depreciation Rs. 1,200; Supervision Rs. 4,000; Insurance Rs. 1,500; Employer’s liability of employees’ insurance Rs. 600; Light Rs. 1,800.


The following data are also available in respect of the five departments :

	
	E
	A
	K
	V
	R

	Area sq. ft.
	140
	120
	110
	90
	40

	No. of workers
	25
	20
	10
	10
	5

	Total wages (Rs.)
	10,000
	8,000
	5,000
	5,000
	2,000

	Value of plant (Rs.)
	20,000
	18,000
	16,000
	10,000
	6,000

	Value of stock (Rs.)
	15,000
	10,000
	5,000
	2,000
	–



Apportion to costs to various departments on the equitable basis.

Á¸s {Ö©zvÀ I¢x xøÓPÒ EÒÍÚ. CÁØÔß E, A, K ©ØÖ® V Gß£Ú EØ£zv xøÓPÒ R Gß£x ÷\øÁ xøÓ¯õS®. AhUP ö\»ÄPÒ •øÓ÷¯ £Êx £õºUS® ö\»Ä ¹. 2,000; ÁõhøP ¹. 2,500; ÷u´©õÚ® ¹. 1,200; ÷©Ø£õºøÁ ö\»ÄPÒ 
¹. 4,000; Põ¨¥k ¹. 1,500; öuõÈ»õÎ°ß Põ¨¥miÀ •u»õÎ°ß £[PÎ¨¦ ¹. 600; ªß ö\»Ä ¹. 1,800.

¤ßÁ¸® TkuÀ ÂÁµ[PÒ •øÓ÷¯ :

	
	E
	A
	K
	V
	R

	\xµ £µ¨£ÍÄ
	140
	120
	110
	90
	40

	÷Áø» BmPÎß 
  GsoUøP
	
25
	
20
	
10
	
10
	
5

	ö©õzu T¼ (¹.)
	10,000
	8,000
	5,000
	5,000
	2,000

	ö£õÔ°ß ©v¨¦ (¹.)
	20,000
	18,000
	16,000
	10,000
	6,000

	\µUQ¸¨¤ß 
  ©v¨¦ (¹.)
	
15,000
	
10,000
	
5,000
	
2,000
	
–


\›¯õÚ Ai¨£øh°À ö\»ÄPøÍ £À÷ÁÖ xøÓPÐUS ¤›zuÎUPÄ®

236. Product X is obtained after passing through three distinct processes. Prepare Process accounts from the following information :

	
	Processes

	
	I
	II
	III

	
	Rs.
	Rs.
	Rs.

	Materials
	5,200
	3,960
	5,924

	Wages
	4,000
	6,000
	8,000



Production overhead Rs. 18,000 in total. In Process I 1,000 units were introduced for Rs. 6,000; production overheads to be distributed as 100% of wages.

	Processes
	Actual output
	Normal loss
	Scrap value per unit
Rs.

	I
	950
	5%
	4

	II
	840
	10%
	8

	III
	750
	15%
	10


ö£õ¸Ò X BÚx ‰ßÖ uÛzuÛ £i{ø»PøÍU Ph¢u ¤ß ö£Ó¨£mkÒÍx. ¤ßÁ¸® ÂÁµ[PÎ¼¸¢x £i{ø»U PnUSPøÍz u¯õº ö\´P.

	
	£i{ø»PÒ

	
	I
	II
	III

	
	¹.
	¹.
	¹.

	‰»¨ö£õ¸mPÒ
	5,200
	3,960
	5,924

	T¼
	4,000
	6,000
	8,000


EØ£zv ö\»ÄPÒ ö©õzu©õP ¹. 18,000. £i{ø» I&À 1000 A»SPÒ ¹. 6,000&US AÎUP¨£kQßÓx. EØ£zv ö\»ÄPÒ T¼°À 100% ¤›UPÄ®.

	£i{ø»PÒ
	Esø©¯õÚ öÁÎ ö\À EØ£zv A»SPÒ
	\õuõµn |mh®
	A»S JßÔß ©v¨¦ ¹.

	I
	950
	5%
	4

	II
	840
	10%
	8

	III
	750
	15%
	10


237. The following balances were extracted from the books of a building contractor on 31st March, 2004 :

	
	Rs.

	Materials issued to site
	62,720

	Wages paid
	73,455

	Wages outstanding 31.3.2004
	720

	Plant issued to site
	6,000

	Direct wages paid
	2,515

	Direct charges outstanding on 31.3.2004
	210

	Establishment charges
	5,650

	Stock of materials at site on 31.3.2004
	1,200

	Value of work certified at 31.3.2004
	1,65,000

	Cost of work not yet certified
	3,500

	Cash received on account of architect’s certificate
	1,41,075



The work was commenced on 1st April 2003 and the contract price agreed at Rs. 2,45,000. Prepare Contract account for the year, providing for depreciation of the plant at 25%.


Calculate the P and L on the contract to date and make such provisions in the contract account as you consider desirable.

RÌUPsh C¸¨¦PÒ J¸ J¨£¢uUPõµ›ß ©õºa 31, 2004 AßøÓ¯ PnUS¨ ¦zuP[PÎ¼¸¢x GkUP¨£mhøÁ :

	
	¹.

	Pmk©õÚz uÍzvØS ÁÇ[P¨£mh ö£õ¸ÒPÒ
	62,720

	T¼ ö\¾zv¯x
	73,455

	31.3.2004 AßÖ öPõk£h ÷Ási¯ T¼
	720

	Pmk©õÚz uÍzvØS ÁÇ[P¨£mh G¢vµ®
	6,000

	
	¹.

	÷|µia ö\»ÄPÒ ö\¾zv¯x
	2,515

	31.3.2004 AßÖ öPõk£h ÷Ási¯ ÷|µia ö\»ÄPÒ
	210

	ìuõ£Úa ö\»ÄPÒ
	5,650

	31.3.2004 AßÖ uÍzv¾ÒÍ ö£õ¸Ò C¸¨¦
	1,200

	31.3.2004 AßÖ \õßÓÎUP¨£mh ÷Áø» ©v¨¦
	1,65,000

	\õßÓÎUP¨£hõu ÷Áø» ©v¨¦
	3,500

	Pmih ÁÀ¾|ºPÒ \õßÔß ÷£›À Áõ[P¨£mh £n®
	1,41,075


H¨µÀ 1, 2003 AßÖ ÷Áø» öuõh[P¨£mhx. J¨¦U öPõÒÍ¨£mh J¨£¢u Âø» ¹. 2,45,000. G¢vµz ÷u´©õÚ® 25%. J¨£¢uU PnUøPz u¯õ›UP ÷©¾® ÷uøÁ¯õÚ ÁÈ•øÓPøÍ J¨£¢uU PnUQÀ øP¯õsk J¨£¢uzvß «uõÚ uØ÷£õx Áøµ°»õÚ C»õ£zøuU PnUQkP.

238. From the following data calculate :


(a)
Material cost variance.


(b)
Material price variance.


(c)
Material usage variance.


(d)
Material mix variance.

	Name of material
	Standard
	Actual

	
	Kg
	Rate
	Kg
	Rate

	X
	8000
	1.05
	7500
	1.20

	Y
	3000
	2.15
	3300
	2.30

	Z
	2000
	3.30
	2400
	3.50


¤ßÁ¸® ÂÁµ SÔ¨¦PÎ¼¸¢x PnUQkP :

(A)
‰»¨ö£õ¸Ò AhUPÂø» ©õÖ£õk

(B)
‰»¨ö£õ¸Ò Âø» ©õÖ£õk

(C)
‰»¨ö£õ¸Ò E£÷¯õP ©õÖ£õk

(D)
‰»¨ö£õ¸Ò P»øÁ ©õÖ£õk.

	ö£õ¸Îß ö£¯º
	uµ {ºn¯®
	Esø© Â£µ®

	
	Q÷»õ 
	Ãu® (¹.)
	Q÷»õ 
	Ãu® (¹.)

	X
	8000
	1.05
	7500
	1.20

	Y
	3000
	2.15
	3300
	2.30

	Z
	2000
	3.30
	2400
	3.50


239. Write short notes on :


(a)
Wastage.


(b)
Machine hour rate.


(c)
Cost plus contract.


(d)
Bin card.

RÌUPshøÁPøÍ¨ £ØÔ SÔ¨¦ ÁøµP :

(A)
PÈÄ¨ ö£õ¸mPÒ.

(B)
G¢vµ ©o Ãu®.

(C)
AhUPÂø» TkuÀ J¨£¢u öuõøP.

(D)
öPõÒP»ß Amøh.

————————
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SECTION A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

240. State the meaning of Personnel Management. What are its objectives?

£o¯õÍº ÷©»õsø© GßÓõÀ GßÚ? Auß ÷|õUP[PÒ ¯õøÁ?

241. What are the contents of the ‘Job Description Report’?

£o ÂÍUP AÔUøP°ß EÒÍhUP® ¯õøÁ?

242. What are the benefits of Training?

£°Ø]¯Îzu¼ß |ßø©PÒ ¯õøÁ?

243. What are the functions of Wages and Salary Administration?

T¼ ©ØÖ® \®£Í {ºÁõP¨ £oPÒ ¯õøÁ?

244. What are the objectives of discipline?

JÊ[S•øÓ°ß ÷|õUP[PÒ ¯õøÁ?

245. What are the benefits of Human Resource Management Audit?

©ÛuÁÍ ÷©»õsø© uoUøP°ß £¯ßPÒ ¯õøÁ?

246. What are the principles of Labour Welfare?

öuõÈ»õÍº |»z uzxÁ[PÒ ¯õøÁ?

247. What are the objectives of Personnel Audit?

BÒ\õº uoUøP°ß ÷|õUP[PÒ ¯õøÁ?

SECTION B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

248. Explain the managerial and operative functions of Personnel Management.

£o¯õÍº ÷©»õsø©°ß ÷©»õsø© ©ØÖ® ö\¯À £oPøÍ ÂÁ›.

249. Define Human Resource Planning. Explain the process of Manpower Planning.

©ÛuÁÍ vmhªhø» Áøµ¯Ö. ©ÛuÁÍ vmhªh¼ß {ø»PøÍ ÂÍUSP.

250. What are the stages in Selection? Explain briefly.

£o¯õÍº ÷uº¢öukzu¼ß Pmh[PÒ ¯õøÁ? AÁØøÓ ÂÍUPÄ®.

251. What are the essentials of a Sound Incentive Plan? Explain any four important incentive plans.

J¸ |À» FUSÂ¨¦ vmhzvß •UQ¯©õÚøÁPÒ ¯õøÁ? H÷uÝ® |õßS •UQ¯ FUSÂ¨¦ vmhzøu ÂÍUSP.

252. State the causes of Accidents. Explain clearly.

Â£zxUPõÚ Põµn[PÒ ¯õøÁ? öuÎÁõP ÂÍUSP.

253. Explain the methods of Personnel Research.

£o¯õÍº B´Âß ÁøPPøÍ ÂÁ›.

254. What are the advantages and disadvantages of Job analysis?

£o¨ £S¨£õ´Âß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ?
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